

#### **Missouri Department of Transportation** Contractor's Pay Estimate Summary

This Estimate

#### Pay Estimate Created Date: June 3, 2025

Contract Total Pay For Estimate No. 13

1620

6049902

MISC.ADJUSTING GAS VALVE

	Contract ID Prime Contrac	240517-Fotor Raineri Co	08 onstruction, LLC dba Ra	aineri Construction				2025 Original 025 Net Cha Current		mount \$9	69,909.79 91,250.83 61,160.62
Approval Date										By U	ser
June 3, 2025			Generated and	d Approved (and sh	ould be	consider	ed Draft) at	the Project O	ffice Level by		burnwb1
June 3, 2025			Reviewed and App	proved (and should	be cons	sidered D	raft) at the F	Resident Engi	neer Level by		washas
June 4, 2025	Reviewed and Approved at the Central Office Controlle										ramses1
Original Completi	on Date	Current (	Completion Date	Actual Comp	letion [	Date	%	of Current Co	ontract Amou	unt Complet	e
September 1, 2	2026	Septe	mber 1, 2026						31.31%		
	Co	ntract Informa	ational Dates					Miles	stones		
Date Description	Original Com	pletion Date	Current Completion	Date		Date D	escription	Original	Current	Days	Diary
Acceptance Date								Completion Date	Completion Date	Remaining	Charge Days
Awarded Date	June 5, 2024		June 5, 2024							Milestone	, -
Letting Date	May 17, 2024		May 17, 2024			Milestor		May 31,	May 31,	-4	
Notice to Proceed Date	July 8, 2024		July 8, 2024				tion Date - J6S3279	2025	2025		
Work Began Date	November 1,	2024	November 1, 2024			completion date - must be open to					
						traffic p	rior to 5. 00 per day be				

Previous

To Date

2

\$550.00

				This Estimate	Previous		To Da	ite			
240517-F0	08	Gross Ite Incentive Disincer Liquidate		\$289,984.41 \$2,641,041.42 (\$6.03) \$190,075.59 \$0.00 \$38,042.22 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$2,869,159.23			\$2,931,025.83 \$190,069.56 \$38,042.22 \$0.00 \$0.00 \$0.00 \$3,159,137.61				
Contract	Total Paya	able This Es	stimate:	\$289,978.38	φ2,009,139.23		ψ5,15	9, 137.01			
tems Paid	This Esti	mate Perioc	<u>t</u>								
Project Number	Line Number	Item Code		Item Description		Unit	Unit Price	Current Installed Qty	Current Installed Amount		
J6S3279	0010	2022010	REMOVAL OF IMPE	ROVEMENTS		LS	\$33,166.650	0.150	\$4,975.00		
	0130	6181000	MOBILIZATION			LS	\$375,000.000	0.500	\$187,500.00		
	0560	6083006	6 IN. CONCRETE M	EDIAN STRIP		SQYD	\$96.240	172.100	\$16,562.90		
Project Je	S3279 - T	otal							\$209,037.90		
J6S3416	0700	3040504	TYPE 5 AGGREGAT	TE FOR BASE (4 IN. THICK)		SQYD	\$9.190	105.200	\$966.79		
	0790	6081012	TRUNCATED DOME	ES .		SQFT	\$22.000	20	\$440.00		
	0820	6086004	CONCRETE SIDEW	ALK, 4 IN.		SQYD	\$52.260	105.200	\$5,497.75		
	0830	6089902	MISC.CONCRETE (	CURB RAMP (7 IN. THICK)		EA	\$2,595.890	2	\$5,191.78		
	0850	6091010	CONCRETE CURB	(6 IN. HEIGHT AND UNDER	TYPE S	LF	\$36.480	86.400	\$3,151.87		
	0860	6092011	INTEGRAL CURB (6	IN. HEIGHT AND UNDER)	TYPE A	LF	\$19.210	150.500	\$2,891.11		
	0960	6161098A		SAGE SIGN WITHOUT COI RNISHED / RETAINED	MMUNICATION INTERFACE,	EA	\$3,745.000	4	\$14,980.00		
	0970	6169901	MISC.TEMPORARY	TRAFFIC CONTROL		LS	\$16,050.000	0.200	\$3,210.00		
	1120	6274000	CONTRACTOR FUE	RNISHED SURVEYING AND	STAKING	LS	\$10,432.500	0.050	\$521.63		
	1540	2063000	CLASS 3 EXCAVAT	ION		CUYD	\$59.040	37	\$2,184.48		
	1560	7259903	MISC.15 IN. PVC PI	PE		LF	\$214.000	5	\$1,070.00		
	1570	7261015	15 IN. PIPE GROUP	Α		LF	\$230.050	2	\$460.10		
	1580	7319903	MISC.MSD PCC 2 G	RATE INLET WITH SIDE IN	ITAKE - 42" BASE	LF	\$2,461.000	6	\$14,766.00		
	1590	7319903	MISC.MSD PCC TR	APPED 2 GRATE INLET WI	TH SIDE INTAKE - 42" BASE	LF	\$2,675.000	9	\$24,075.00		

Page 1 of 30 Revision 5/29/2025

EΑ

\$275.000

\$289,984.41



### Missouri Department of Transportation Contractor's Pay Estimate Summary

#### Pay Estimate Created Date: June 3, 2025

Progress	Contract ID	240517-F08	Pay Period Start	May 16, 2025	Original Contract Amount	\$9,269,909.79
Estimate Number	Prime Contracto	r Raineri Construction, LLC dba Raineri Construction	Pay Period End	June 1, 2025	<b>Net Change Order Amount</b>	\$91,250.83
13					<b>Current Contract Amount</b>	\$9,361,160.62

-	•						40,001,100.02
Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J6S3416	1650	6049902	MISC.ADJUSTING TELEPHONE MANHOLE	EA	\$440.000	1	\$440.00
	1660	6049902	MISC.ADJUSTING WATER MANHOLES, METERS, AND VALVES	EA	\$275.000	2	\$550.00
Project J6	S3416 - T	otal					\$80,946.51

#### **Contract Adjustments This Estimate**

Overall - Total

No Contract Adjustments Exist on Contract

Project lumber	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
6S3279	0030	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125CLP MIX)	Material	•	This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user cunnid3 overridding Payment Estimate Exception 4 on the current Payment Estimate.	10,270.40000	\$152.78	\$1,569,111.71
	0030	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125CLP MIX)	Material			-10,270.40000	\$152.78	(\$1,569,111.71
	0040	TACK COAT	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user cunnid3 overridding Payment Estimate Exception 5 on the current Payment Estimate.	6,852	\$3.15	\$21,583.80
	0040	TACK COAT	Material			-6,852	\$3.15	(\$21,583.80
	0300	SH-FLAT SHEET - SIGNAL SIGN	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user cunnid3 overridding Payment Estimate Exception 19 on the current Payment Estimate.	84	\$37.45	\$3,145.80
	0300	SH-FLAT SHEET - SIGNAL SIGN	Material			-84	\$37.45	(\$3,145.80
	0320	POST, SIGNAL 8 FT.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0005) due to user cunnid3 overridding Payment Estimate Exception 20 on the current Payment Estimate.	1	\$1,181.28	\$1,181.28
	0320	POST, SIGNAL 8 FT.	Material			-1	\$1,181.28	(\$1,181.28
	0530	CONCRETE BASE ( 7 IN. NON-REINF)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0006) due to user cunnid3 overridding Payment Estimate Exception 6 on the current Payment Estimate.	31.70000	\$183.40	\$5,813.78
	0530	CONCRETE BASE ( 7 IN. NON-REINF)	Material			-31.70000	\$183.40	(\$5,813.78
	0550	TRUNCATED DOMES	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0001) due to user cunnid3 overridding Payment Estimate Exception 7 on the current Payment Estimate.	130	\$22.00	\$2,860.00
	0550	TRUNCATED DOMES	Material			-130	\$22.00	(\$2,860.00)
	0560	6 IN. CONCRETE MEDIAN STRIP	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0007) due to user cunnid3 overridding Payment Estimate Exception 9 on the current Payment Estimate.	172.10000	\$96.24	\$16,562.90
	0560	6 IN. CONCRETE MEDIAN STRIP	Material			-172.10000	\$96.24	(\$16,562.90
0	0590	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0008) due to user cunnid3	21	\$2,471.83	\$51,908.43

Revision 5/29/2025 Page 2 of 30



#### Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: June 3, 2025

Progress
Estimate Number
13

Contract ID 240517-F08
Prime Contractor Raineri Construction, LLC dba Raineri Construction
Prime Contract Raineri Construction, LLC dba Raineri Construction
Pay Period Start May 16, 2025 Original Contract Amount Pay Period End June 1, 2025 Net Change Order Amount Current Contract Amount \$9,269,909.79
\$9,269,909.79
\$9,269,909.79

Project lumber	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
6S3279					overridding Payment Estimate Exception 14 on the current Payment Estimate.			
	0590	MISC.	Material			-21	\$2,471.83	(\$51,908.43)
	5005	PULL BOX, PREFORMED CLASS 2	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0022) due to user cunnid3 overridding Payment Estimate Exception 22 on the current Payment Estimate.	2	\$3,038.23	\$6,076.46
	5005	PULL BOX, PREFORMED CLASS 2	Material			-2	\$3,038.23	(\$6,076.46
3416	0700	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0012) due to user cunnid3 overridding Payment Estimate Exception 1 on the current Payment Estimate.	1,231.20000	\$9.19	\$11,314.73
	0700	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	Material			-1,231.20000	\$9.19	(\$11,314.73
	0700	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	24.40000	(\$0.06)	(\$1.40)
	0700	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	34.40000	(\$0.06)	(\$1.97)
	0700	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	46.40000	(\$0.06)	(\$2.66)
	0790	TRUNCATED DOMES	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0013) due to user cunnid3 overridding Payment Estimate Exception 8 on the current Payment Estimate.	54.70000	\$22.00	\$1,203.40
	0790	TRUNCATED DOMES	Material			-54.70000	\$22.00	(\$1,203.40
	0800	6 IN. CONCRETE MEDIAN STRIP	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0014) due to user cunnid3 overridding Payment Estimate Exception 10 on the current Payment Estimate.	45.60000	\$140.53	\$6,408.17
	0800	6 IN. CONCRETE MEDIAN STRIP	Material			-45.60000	\$140.53	(\$6,408.17)
	0810	PAVED APPROACH, 7 IN.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0015) due to user cunnid3 overridding Payment Estimate Exception 11 on the current Payment Estimate.	431.01000	\$80.88	\$34,860.09
	0810	PAVED APPROACH, 7 IN.	Material			-431.01000	\$80.88	(\$34,860.09
	0820	CONCRETE SIDEWALK, 4 IN.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0016) due to user cunnid3 overridding Payment Estimate Exception 12 on the current Payment Estimate.	572.44000	\$52.26	\$29,915.71
	0820	CONCRETE SIDEWALK, 4 IN.	Material			-572.44000	\$52.26	(\$29,915.71
	0830	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0017) due to user cunnid3 overridding Payment Estimate Exception 13 on the current Payment Estimate.	5	\$2,595.89	\$12,979.45
	0830	MISC.	Material			-5	\$2,595.89	(\$12,979.45)
	0960	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0018) due to user cunnid3 overridding Payment Estimate Exception 16 on the current Payment Estimate.	4	\$3,745.00	\$14,980.00
	0960	CHANGEABLE MESSAGE	Material			-4	\$3,745.00	(\$14,980.00)

Revision 5/29/2025 Page 3 of 30



#### Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: June 3, 2025

Progress
Estimate Number
13

Contract ID 240517-F08
Prime Contractor Raineri Construction, LLC dba Raineri Construction
Prime Contract Raineri Construction, LLC dba Raineri Construction
Pay Period Start May 16, 2025 Original Contract Amount Pay Period End June 1, 2025 Net Change Order Amount Current Contract Amount \$9,269,909.79
\$9,269,909.79
\$9,269,909.79

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J6S3416		SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED						
	0970	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0019) due to user cunnid3 overridding Payment Estimate Exception 17 on the current Payment Estimate.	0.25000	\$16,050.00	\$4,012.50
	0970	MISC.	Material			-0.25000	\$16,050.00	(\$4,012.50)
	1440	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0020) due to user cunnid3 overridding Payment Estimate Exception 23 on the current Payment Estimate.	10	\$31.03	\$310.30
	1440	MISC.	Material			-10	\$31.03	(\$310.30)
	1570	15 IN. PIPE GROUP A	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0021) due to user cunnid3 overridding Payment Estimate Exception 18 on the current Payment Estimate.	2	\$230.05	\$460.10
	1570	15 IN. PIPE GROUP A	Material			-2	\$230.05	(\$460.10)
Total								(\$6.03)

Revision 5/29/2025 Page 4 of 30



### Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Co	ontract Project Informat	tion		
				_		ontract i roject informat			
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work		
J6S3279	FAF 367-1(18)	Resurface and ADA improvements	367	ST LOUIS CITY	from I-70 to Halls	s Ferry Circle near Ferguson			
J6S3416	FAF 115-1(48)	Resurface, signal and ADA improvements	115	ST LOUIS	from Route U (Li	ucas and Hunt Road) to east	of Dardenne Road near Ferguson	า	
J6S3416B	STBG-9901(658)	ADA improvements	115	ST LOUIS	from Route U to	the St. Louis City limits			
Totals by	y Job Numbers								
J6S3279				-	This Estimate	Previous	To Date		
0000270	Posted Item Pa	w			\$209.037.90	\$2.291.487.35	\$2,500,525.25		
	Gross Item Adi				\$0.00	\$51.048.71	\$51.048.71		
	Gross item Au	Gross It	om Day		\$209,037.90	\$2,342,536.06	\$2,551,573.96		
		0103311	ciii i ay	· · · · · · · · ·	\$205,057.50	Ψ2,042,000.00	Ψ2,351,373.30		
	Incentive			9	\$0.00	\$13,465.60	\$13,465.60		
	Disincentive				\$0.00	\$0.00	\$0.00		
	Liquidated Dan	nages			\$0.00				
	Other Contract				\$0.00	\$0.00	\$0.00		
J6S3416					This Estimate	Previous	To Date		
3033410	Deeted Hem De								
	Posted Item Pa				\$80,946.51	\$349,554.07	\$430,500.58		
	Gross Item Adj		_		(\$6.03)	\$139,026.88	\$139,020.85		
		Gross It	em Pay		\$80,940.48	\$488,580.95	\$569,521.43		
	Incentive			9	\$0.00	\$20,974.12	\$20,974.12		
	Disincentive				\$0.00	\$0.00	\$0.00		
	Liquidated Dan	nanoe			\$0.00	\$0.00	\$0.00		
	Other Contract				\$0.00	\$0.00	\$0.00		
	Other Contract	Aujustilients		•	<b>30.00</b>	φ0.00	\$0.00		
J6S3416B					This Estimate	Previous	To Date		
	Posted Item Pa	ıv			\$0.00	\$0.00	\$0.00		
	Gross Item Adj				\$0.00	\$0.00	\$0.00		
		Gross It	em Pay		\$0.00	\$0.00	\$0.00		
	Incentive				\$0.00	\$3,602.50	\$3,602.50		
	Disincentive				\$0.00 \$0.00	\$0.00	\$0.00		
	Liquidated Dan	2000			\$0.00 \$0.00	\$0.00	\$0.00		
	Other Contract				\$0.00 \$0.00	\$0.00	\$0.00		
	Julier Contract	Aujustilients			DU.UQ	φ0.00	30.00		

Revision 5/29/2025 Page 5 of 30



### Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

### **Exceptions (Discrepancies) This Estimate Period**

Exceptions (Discrepancies) This Estimate Period			
Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J6S3416, Item 3040504, Project Item Line Number 0700, Material Set 304050496, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	Will be resolved next estimate.	cunnid3	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3416, Item 3040504, Project Item Line Number 0700, Material Set 304050496, Material 1007RCBT1T5 - Agg Base T1/T5 Reclaimed Concrete, Acceptance Action Generic 1007RCBT1T5 is insufficient.	Will be resolved next estimate.	cunnid3	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3416, Item 3040504, Project Item Line Number 0700, Material Set 304050496, Material 0304SBT15KP - Compacted Type 1 & 5 Base, Acceptance Action Generic 0304SBT15KP is insufficient.	Will be resolved next estimate.	cunnid3	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3279, Item 4030109, Project Item Line Number 0030, Material Set 403010996, Material 0403SP125CLP - Superpave 12.5 mm, Des C LP, Acceptance Action Generic AspHigh is insufficient.	Will be resolved next estimate.	cunnid3	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3279, Item 4071005, Project Item Line Number 0040, Material Set 407100596, Material 1015EASS1H - Emulsified Asphalt SS-1H, Acceptance Action Generic AspEmulsion is insufficient.	Will be resolved next estimate.	cunnid3	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3279, Item 5024007, Project Item Line Number 0530, Material Set 502400796, Material 1015EASS1H - Emulsified Asphalt SS-1H, Acceptance Action Generic AspEmulsion is insufficient.	Will be resolved next estimate.	cunnid3	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3279, Item 6081012, Project Item Line Number 0550, Material Set 608101296, Material 1067TRDO - Truncated Domes for ADA, Acceptance Action Generic 1067TRDO is insufficient.	Will be resolved next estimate.	cunnid3	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3416, Item 6081012, Project Item Line Number 0790, Material Set 608101296, Material 1067TRDO - Truncated Domes for ADA, Acceptance Action Generic 1067TRDO is insufficient.	Will be resolved next estimate.	cunnid3	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3279, Item 6083006, Project Item Line Number 0560, Material Set 608300696, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.	Will be resolved next estimate.	cunnid3	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3416, Item 6083006, Project Item Line Number 0800, Material Set 608300696, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.	Will be resolved next estimate.	cunnid3	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3416, Item 6085007, Project Item Line Number 0810, Material Set 608500796, Material 1057JMFRPF - Preformed Fiber Expansion Joint Matl @, Acceptance Action Generic 1057JMFRPF is insufficient.	Will be resolved next estimate.	cunnid3	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3416, Item 6086004, Project Item Line Number 0820, Material Set 608600496, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.	Will be resolved next estimate.	cunnid3	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3416, Item 6089902, Project Item Line Number 0830, Material Set 6089902, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.	Will be resolved next estimate.	cunnid3	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3279, Item 6089902, Project Item Line Number 0590, Material Set 608990296, Material 1067TRDO - Truncated Domes for ADA, Acceptance Action Generic 1067TRDO is insufficient.	Will be resolved next estimate.	cunnid3	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3416, Item 6089902, Project Item Line Number 0830, Material Set 608990296, Material 1055CMMLDST1D - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST1D is insufficient.	Will be resolved next estimate.	cunnid3	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3416, Item 6161098A, Project Item Line Number 0960, Material Set 6161098A96, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Will be resolved next estimate.	cunnid3	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3416, Item 6169901, Project Item Line Number 0970, Material Set 6169901, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Will be resolved next estimate.	cunnid3	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3416, Item 7261015, Project Item Line Number 1570, Material Set 726101596, Material 1026CPRCC3.015 - Reinf Conc Culv Pipe Cl3 15" (375 mm), Acceptance Action Generic 1026CPRCC3.015 is insufficient.	Will be resolved next estimate.	cunnid3	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3279, Item 9020833, Project Item Line Number 0300, Material Set 902083396, Material 1042SM - Sign Material, Acceptance Action Generic 1042SM is insufficient.	Will be resolved next estimate.	cunnid3	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3279, Item 9022708, Project Item Line Number 0320, Material Set 902270896, Material 1092TSPS - Traffic Signal Post(s) - All Types, Acceptance Action Generic 1092TSPS is insufficient.	Will be resolved next estimate.	cunnid3	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3279, Item 9022708, Project Item Line Number 0320, Material Set 902270896, Material 0902TSBTZCAB - Bolts Galv Anchor for Traffic Signals, Acceptance Action Generic 0902TSBTZCAB is insufficient.	Will be resolved next estimate.	cunnid3	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3279, Item 9028811, Project Item Line Number 5005, Material Set 902881196, Material 1062PBPF - Pull Box Preformed Poly Resin Fiber, Acceptance Action Generic 1062PBPF is insufficient.	Will be resolved next estimate.	cunnid3	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3416, Item 9029903, Project Item Line Number 1440, Material Set 902990396, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient.	Will be resolved next estimate.	cunnid3	Overridden

Revision 5/29/2025 Page 6 of 30



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

					on Report Generated date and can differ from the poster						Unit Drice	Total Value POSTED
Contract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	To Date (See report generated date)
40517-	J6S3279	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.90	\$33,166.65	\$29,849.98
-08		0001	0020	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	59.00	0.00	59.00	SQYD	59.00	\$26.06	\$1,537.54
		0001	0030	4030109	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125CLP MIX)	11,737.40	0.00	11,737.40	TONS	10,270.40	\$152.78	\$1,569,111.71
		0001	0040	4071005	TACK COAT	9,438.00	0.00	9,438.00	GAL	6,852.00	\$3.15	\$21,583.80
		0001	0050	6042010	ADJUSTING MANHOLE	1.00	0.00	1.00	EA	1.00	\$880.00	\$880.00
		0001	0060	6049902	MISC.PULL BOX ADJUSTMENT	16.00	0.00	16.00	EA	16.00	\$880.00	\$14,080.00
		0001	0070	6081012	TRUNCATED DOMES	24.00	0.00	24.00	SQFT	24.00	\$27.50	\$660.00
		0001	0800	6083008	8 IN. CONCRETE MEDIAN STRIP	21.60	0.00	21.60	SQYD	21.60	\$417.07	\$9,008.71
		0001	0090	6086004	CONCRETE SIDEWALK, 4 IN.	59.10	0.00	59.10	SQYD	59.10	\$176.59	\$10,436.47
		0001	0100	6089902	MISC.ADA CURB RAMP	13.00	0.00	13.00	EA	13.00	\$2,517.92	\$32,732.96
		0001	0110	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	2.00	0.00	2.00	EA	2.00	\$3,745.00	\$7,490.00
		0001	0120	6169901	MISC.TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.50	\$10,700.00	\$5,350.00
		0001	0130	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$375,000.00	\$375,000.00
		0001	0140	6200003	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 4 IN., WHITE	617.00	0.00	617.00	LF	0.00	\$2.94	\$0.00
		0001	0150	6200006	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 4 IN YELLOW	66.00	0.00	66.00	LF	0.00	\$2.94	\$0.00
		0001	0160	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	707.00	0.00	707.00	LF	0.00	\$26.75	\$0.00
		0001	0170	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	12.00	0.00	12.00	EA	0.00	\$251.45	\$0.00
		0001	0180	6200024	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW	4.00	0.00	4.00	EA	0.00	\$181.90	\$0.00
		0001	0190	6200027	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT	7.00	0.00	7.00	EA	0.00	\$321.00	\$0.00
		0001	0200	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	388.00	0.00	388.00	EA	0.00	\$128.40	\$0.00
		0001	0210	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	57.00	0.00	57.00	EA	0.00	\$16.05	\$0.00
		0001	0220	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	35,770.00	0.00	35,770.00	LF	0.00	\$0.20	\$0.00
		0001	0230		4 IN, YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	17,842.00	0.00	17,842.00	LF	0.00	\$0.20	\$0.00
		0001	0240	6209901	MISC.TEMPORARY PAVEMENT MARKING PAINT	1.00	0.00	1.00	LS	0.00	\$8,560.00	\$0.00
		0001	0250	6209902	MISC.BIKE LANE SYMBOL PAVEMENT MARKING	54.00	0.00	54.00	EA	0.00	\$267.50	\$0.00
		0001	0260	6209902	MISC.SHARED LANE SYMBOL PAVEMENT MARKING	8.00	0.00	8.00	EA	0.00	\$240.75	\$0.00
		0001	0270	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	72,601.00	0.00	72,601.00	SQYD	60,434.00	\$3.40	\$205,475.60
		0001	0280	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$3,638.00	\$3,638.00
		0030	0290	9020513	SIGNAL HEAD, TYPE 3B	4.00	1.00	5.00	EA	4.00	\$1,313.96	\$5,255.84
		0030	0300	9020833	SH-FLAT SHEET - SIGNAL SIGN	84.00	0.00	84.00	SQFT	84.00	\$37.45	\$3,145.80
		0030	0310	9020834	SIGNAL SIGN, MOUNTING HARDWARE	12.00	1.00	13.00	EA	12.00	\$214.00	\$2,568.00
		0030	0320	9022708	POST, SIGNAL 8 FT.	1.00	0.00	1.00	EA	1.00	\$1,181.28	\$1,181.28
		0030	0330	9024921	ACCESSIBLE PEDESTRIAN SIGNAL	34.00	2.00	36.00	EA	18.00		\$23,920.92
		0030	0340	9025300	CONDUIT, 3 IN., TRENCH WITH TRACER WIRE	109.00	16.00	125.00	LF	109.00	\$16.05	\$1,749.45
		0030	0350	9027300	CONDUIT, 3 IN., PUSHED WITH TRACER WIRE	96.00	0.00	96.00	LF	37.00	\$40.66	\$1,504.42
		0030	0360	9028308	CABLE, 16 AWG 2 CONDUCTOR	2,170.00	76.00	2,246.00	LF	2,170.00	\$1.77	\$3,840.90
		0030	0370	9028310	CABLE, 16 AWG 5 CONDUCTOR	260.00	76.00	336.00	LF	260.00	\$1.77	\$460.20
			0380	9029100	BASE, CONCRETE	0.40	0.00	0.40	CUYD	0.40	\$3,638.00	\$1,455.20
		0030	0390	9029901	MISC.TRAFFIC SIGNAL MAINTENANCE AND PROGRAMING	1.00	0.00	1.00	LS	0.00	\$18,190.00	\$0.00
		0030	0400	9029902	MISC.COUNTDOWN PEDESTRIAN SIGNAL HEAD, TYPE 1S	24.00	2.00	26.00	EA	17.00	\$713.69	\$12,132.73
		0030	0410	9029902	MISC.PEDESTRIAN PUSH BUTTON STANCHION	12.00	0.00	12.00	EA	5.00	\$923.41	\$4,617.05
		0030	0420	9029902	MISC.PUSH BUTTON EXTENSION	1.00	0.00	1.00	EA	1.00	\$321.00	\$321.00
		0030	0430	9029902	MISC.SL DISTRICT TRAFFIC SIGNAL DETECTION SYSTEM	3.00	0.00	3.00	EA	1.00	\$43,067.50	\$43,067.50
		0040	0440		2 IN. PSST POST - 12 GA.	477.00	0.00	477.00	LF	0.00	\$27.26	\$0.00
		0040	0450		DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	44.00	0.00	44.00	EA	0.00	\$157.73	\$0.00
		0040	0460	9031280	2.5 IN. PSST POST - 12 GA.	176.00	0.00	176.00	LF	0.00	\$31.31	\$0.00
		0040	0470		DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	7.00	0.00	7.00	EA	0.00	\$273.44	\$0.00
		0040	0480	9035004A	SH-FLAT SHEET	457.00	0.00	457.00	SQFT	0.00	\$28.45	\$0.00
		0040	0490	9035069A	SHF-FLAT SHEET FLUORESCENT	255.00	0.00	255.00	SQFT	0.00	\$33.06	\$0.00
		0050	0500	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	121.00	0.00	121.00	SQYD	117.90	\$13.73	\$1,618.77
		0050	0510	4030109	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125CLP MIX)	269.70	0.00	269.70	TONS	0.00	\$174.30	\$0.00

Revision 5/29/2025 Page 7 of 30



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

	Quantities	and '	Values	are based	on Report Generated date and can differ from the posted		at the tim	e the Estim		Generated.		
ict Proj No		gory	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
7- J6S32	279 0050		0520	4071005	TACK COAT	217.00	0.00	217.00	GAL	0.00	\$3.15	\$0.00
	0050	)	0530	5024007	CONCRETE BASE ( 7 IN. NON-REINF)	31.70	0.00	31.70	SQYD	31.70	\$183.40	\$5,813.78
	0050	)	0540	6042010	ADJUSTING MANHOLE	2.00	0.00	2.00	EA	2.00	\$885.50	\$1,771.00
	0050	)	0550	6081012	TRUNCATED DOMES	130.00	0.00	130.00	SQFT	130.00	\$22.00	\$2,860.00
	0050	1	0560	6083006	6 IN. CONCRETE MEDIAN STRIP	440.20	0.00	440.20	SQYD	172.10	\$96.24	\$16,562.90
	0050	)	0570	6083008	8 IN. CONCRETE MEDIAN STRIP	85.20	0.00	85.20	SQYD	0.00	\$152.54	\$0.00
	0050	)	0580	6086004	CONCRETE SIDEWALK, 4 IN.	109.50	0.00	109.50	SQYD	109.25	\$100.09	\$10,934.83
	0050	1	0590	6089902	MISC.ADA CURB RAMP	25.00	0.00	25.00	EA	21.00	\$2,471.83	\$51,908.43
	0050	1	0600	6091010	CONCRETE CURB (6 IN. HEIGHT AND UNDER) TYPE S	22.00	0.00	22.00	LF	22.00	\$163.20	\$3,590.40
	0050	)	0610	6092011	INTEGRAL CURB (6 IN. HEIGHT AND UNDER) TYPE A	228.00	0.00	228.00	LF	228.00	\$22.20	\$5,061.60
	0050	)	0620	6092022	INTEGRAL CURB (OVER 6 IN. HEIGHT) TYPE B	71.00	0.00	71.00	LF	71.00	\$32.00	\$2,272.00
	0050		0630	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN.	85.00	0.00	85.00	LF	0.00	\$26.75	\$0.00
	0050		0640	6200036	WHITE PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN	157.00	0.00	157.00	EA	0.00	\$107.00	\$0.00
	0050		0650	6209902	WHITE MIDBLOCK MISC.CURB REFLECTORS	273.00	0.00	273.00	EA	0.00	\$16.05	\$0.00
	0050		0660	6209902					EA			
	0050				MISC.ISLAND TUBULAR MARKER	181.00	0.00	181.00		0.00	\$101.65	\$0.00
	0000		0670	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	1,667.00	0.00	1,667.00	SQYD	0.00	\$3.40	\$0.00
	0030	)	5003	9024283	CONTROLLER ASSEMBLY HOUSING, NEMA TS2 CONTROLLER	0.00	2.00	2.00	EA	0.00	\$38,337.06	\$0.00
	0030	)	5004	9022715	POST, SIGNAL 15 FT.	0.00	1.00	1.00	EA	0.00	\$2,361.19	\$0.00
	0030	)	5005	9028811	PULL BOX, PREFORMED CLASS 2	0.00	2.00	2.00	EA	2.00	\$3,038.23	\$6,076.46
Proje	ct J6S3279	- Tota	l Value F	Posted to Da	ite as of Report Generated Date							\$2,500,525.24
J6S34	0001		0680	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.10	\$700,000.00	\$70,000.00
	0001		0690	2079909	MISC.MODIFIED LINEAR GRADING CLASS 2	105.00	0.00	105.00	STA	0.00	\$807.09	\$0.00
	0001		0700	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	15,237.00	0.00	15,237.00	SQYD	1,231.20	\$9.19	\$11,314.73
	0001		0710	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	212.00	0.00	212.00	TONS	0.00	\$155.40	\$0.00
	0001		0720	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	1,001.80	0.00	1,001.80	TONS	0.00	\$150.15	\$0.00
	0001		0730	4030109	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125CLP MIX)	4,524.00	0.00	4,524.00	TONS	0.00	\$152.78	\$0.00
	0001		0740	4071007	TACK COAT - NON-TRACKING	4,945.00	0.00	4,945.00	GAL	0.00	\$3.15	\$0.00
	0001		0750	5021108	CONCRETE PAVEMENT ( 8 IN. NON-REINF)	488.60	0.00	488.60	SQYD	0.00	\$95.37	\$0.00
	0001		0760	5021109	CONCRETE PAVEMENT ( 9 IN. NON-REINF)	232.00	0.00	232.00	SQYD	0.00	\$121.84	\$0.00
	0001		0770	6071102	MODIFIED CONCRETE GUTTER TYPE B	338.00	0.00	338.00	LF	0.00	\$54.96	\$0.00
	0001								LF			
	0001		0780	6079903	MISC.REMOVE AND RELOCATE EXISTING FENCE	79.00	0.00	79.00		0.00	\$150.00	\$0.00
	0001		0790	6081012	TRUNCATED DOMES	1,099.00	0.00	1,099.00	SQFT	54.70	\$22.00	\$1,203.40
	0001		0800	6083006	6 IN. CONCRETE MEDIAN STRIP	127.20	0.00	127.20	SQYD	45.60	\$140.53	\$6,408.17
	0001		0810	6085007	PAVED APPROACH, 7 IN.	2,414.30	0.00	2,414.30	SQYD	431.01	\$80.88	\$34,860.09
	0001		0820	6086004	CONCRETE SIDEWALK, 4 IN.	5,991.10	0.00	5,991.10	SQYD	572.44	\$52.26	\$29,915.71
	0001		0830	6089902	MISC.CONCRETE CURB RAMP (7 IN. THICK)	70.00	0.00	70.00	EA	5.00	\$2,595.89	\$12,979.45
	0001		0840	6089902	MISC.CONCRETE STAIRCASE WITH ADA HANDRAILS	9.00	0.00	9.00	EA	0.00	\$4,497.50	\$0.00
			0850	6091010	CONCRETE CURB (6 IN. HEIGHT AND UNDER) TYPE S	9,033.00	0.00	9,033.00	LF	1,419.10	\$36.48	\$51,768.77
	0001		0860	6092011	INTEGRAL CURB (6 IN. HEIGHT AND UNDER) TYPE A	713.00	0.00	713.00	LF	429.00	\$19.21	\$8,241.09
	0001		0870	6099903	MISC.MODIFIED CURB AND GUTTER (1' GUTTER)	218.00	0.00	218.00	LF	0.00	\$53.84	\$0.00
	0001		0880	6099903	MISC.MODIFIED CURB AND GUTTER (1.5' GUTTER)	160.00	0.00	160.00	LF	0.00	\$59.28	\$0.00
	0001		0890	6099903	MISC.MODIFIED CURB AND GUTTER (2' GUTTER)	55.00	0.00	55.00	LF	0.00	\$69.88	\$0.00
	0001		0900	6123001	TRUCK MOUNTED ATTENUATOR (TMA)	1.00	0.00	1.00	LS	0.00	\$10,700.00	\$0.00
	0001		0910	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	1,120.00	0.00	1,120.00	SQYD	0.00	\$209.72	\$0.00
	0001		0920	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	112.00	0.00	112.00	SQYD	0.00	\$16.23	\$0.00
	0001		0930	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	112.00	0.00	112.00	SQYD	0.00	\$18.88	\$0.00
	0001		0940	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	5,040.00	0.00	5,040.00	LF	0.00	\$5.17	\$0.00
	0001		0950	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	2,800.00	0.00	2,800.00	EA	0.00	\$22.00	\$0.00
	0001		0960	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	9.00	0.00	9.00	EA	4.00	\$3,745.00	\$14,980.00
	0001		0970	6169901	MISC.TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.25	\$16,050.00	\$4,012.50
	0001		0980	6169902	MISC.DETECTABLE PEDESTRIAN CHANNELIZING BARRICADE	6.00	0.00	6.00	EA	0.00	\$214.00	\$0.00
										0.00		
	0001		0990	6181000	MOBILIZATION	1.00	-1.00	0.00	LS	0.00	\$300,000.00	\$0.00

Revision 5/29/2025 Page 8 of 30



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

					on Report Generated date and can differ from the poste							
Contract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240517-	J6S3416	0001	0992	6181000	MOBILIZATION	0.00	1.00	1.00	LS	0.25	\$232,910.00	\$58,227.50
F08		0001	1000	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	246.00	0.00	246.00	LF	0.00	\$26.75	\$0.00
		0001	1010	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	11.00	0.00	11.00	EA	0.00	\$251.45	\$0.00
		0001	1020	6200024	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW	3.00	0.00	3.00	EA	0.00	\$181.90	\$0.00
		0001	1030	6200030	PREFORMED THERMOPLASTIC PAVEMENT MARKING, WORD (ONLY)	3.00	0.00	3.00	EA	0.00	\$321.00	\$0.00
		0001	1040	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	127.00	0.00	127.00	EA	0.00	\$107.00	\$0.00
		0001	1050	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	95.00	0.00	95.00	EA	0.00	\$16.05	\$0.00
		0001	1060	6205901A	4 IN. YELLOW CLASS 2 PAVEMENT MARKING PAINT (25-MIL, TYPE L BEADS)	15,755.00	0.00	15,755.00	LF	0.00	\$0.20	\$0.00
		0001	1070	6205902A	6 IN. WHITE CLASS 2 PAVEMENT MARKING PAINT (25-MIL, TYPE L BEADS)	17,274.00	0.00	17,274.00	LF	0.00	\$0.31	\$0.00
		0001	1080	6207001	PAVEMENT MARKING REMOVAL	3,600.00	0.00	3,600.00	LF	0.00	\$0.54	\$0.00
		0001	1090	6208076	4 IN TEMPORARY PAVEMENT MARKING PAINT	3,600.00	0.00	3,600.00	LF	0.00	\$0.42	\$0.00
		0001	1100	6209902	MISC.PREFORMED THERMOPLASTIC PAVMENT MARKING, LANE REDUCTION ARROW	1.00	0.00	1.00	EA	0.00	\$1,070.00	\$0.00
		0001	1110	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	39,978.00	0.00	39,978.00	SQYD	0.00	\$3.40	\$0.00
		0001	1120	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.10	\$10,432.50	\$1,043.25
		0001	1130	7110400	SACRIFICIAL GRAFFITI PROTECTION SYSTEM	1.00	0.00	1.00	LS	0.00	\$4,494.00	\$0.00
		0001	1140	7201000	MECHANICALLY STABILIZED EARTH WALL SYSTEMS	1,636.00	0.00	1,636.00	SQFT	0.00	\$61.93	\$0.00
		0001	1150	7209904	MISC.RECONSTRUCT WALL IN PLACE	83.00	0.00	83.00	SQFT	0.00	\$69.55	\$0.00
		0001	1160	7209904	MISC.SMALL BLOCK WALL	1,290.00	0.00	1,290.00	SQFT	0.00	\$56.66	\$0.00
		0001	1170	8031000A	TURF TYPE TALL FESCUE SODDING	2,640.00	0.00	2,640.00	SQYD	0.00	\$11.77	\$0.00
		0001	1180	8061007A	CURB INLET CHECK	38.00	0.00	38.00	EA	38.00	\$133.75	\$5,082.50
		0001	1190	8061016	SEDIMENT REMOVAL	15.00	0.00	15.00	CUYD	0.00	\$121.44	\$0.00
		0001	1200	8061019	SILT FENCE	602.00	0.00	602.00	LF	602.00	\$3.75	\$2,257.50
		0020	1210	9012230	BASE MOUNTED CONTROL STATION 240 VOLT - 4 CIRCUIT	6.00	0.00	6.00	EA	0.00	\$107.00	\$2,237.30
		0020	1220	9013004	CONDUIT, 4 IN. RIGID, IN TRENCH	677.00	0.00	677.00	LF	0.00	\$107.00	\$0.00
		0020	1230	9014004	CONDUIT, 4 IN. RIGID, IN TRENCH	471.00	0.00	471.00	LF	0.00	\$44.94	\$0.00
		0020										
		0020	1240	9015010	TRENCHING TYPE I	3,407.00	0.00	3,407.00	LF	0.00	\$6.42	\$0.00
		0020	1250	9015020	TRENCHING TYPE II	379.00	0.00	379.00	LF	0.00	\$6.42	\$0.00
		0020	1260 1270	9016110	PULL BOX, PREFORMED CLASS 1  CABLE-CONDUIT, 1 IN., 2 CONDUCTORS AND 1 BARE NEUTRAL, 8 AWG	29.00 6,080.00	0.00	29.00 6,080.00	EA LF	0.00	\$1,701.30 \$5.08	\$0.00 \$0.00
		0020	1280	9018230	POLE FOUNDATION (30 FT. OR 9.0 M MOUNTING HEIGHT)	20.00	0.00	20.00	EA	0.00	\$1,498.00	\$0.00
		0020	1290	9018612	POWER SUPPLY ASSEMBLY, TYPE 2, 240/120 VOLT SERVICE,	6.00	0.00	6.00	EA	0.00	\$1,498.00	\$0.00
		0020	1300	9019902	LIGHTING ONLY MISC.30' ROADWAY TOP MOUNT LUMINAIRE, LED-B	20.00	0.00	20.00	EA	0.00	\$9,565.80	\$0.00
		0020	1310	9019902	MISC.30' ROADWAY TOP MOUNT POLE	20.00	0.00	20.00	EA	0.00	\$3,359.80	\$0.00
		0030	1320	9020514	SIGNAL HEAD, TYPE 4B	8.00	0.00	8.00	EA	0.00	\$1,419.89	\$0.00
		0030	1330	9020811	SIGNAL HEAD, TYPE 1S, PEDESTRIAN	11.00	0.00	11.00	EA	0.00	\$713.69	\$0.00
		0030	1340	9020833	SH-FLAT SHEET - SIGNAL SIGN	60.00	0.00	60.00	SQFT	0.00	\$37.45	\$0.00
		0030	1350	9020834	SIGNAL SIGN, MOUNTING HARDWARE	8.00	0.00	8.00	EA	0.00	\$214.00	\$0.00
		0030	1360	9022708	POST, SIGNAL 8 FT.	10.00	0.00	10.00	EA	0.00	\$1,181.28	\$0.00
		0030	1370	9025200	CONDUIT, 2 IN., TRENCH WITH TRACER WIRE	259.00	0.00	259.00	LF	0.00	\$14.98	\$0.00
		0030	1380	9028308	CABLE, 16 AWG 2 CONDUCTOR	2,460.00	0.00	2,460.00	LF	0.00	\$1.77	\$0.00
		0030	1390	9028310	CABLE, 16 AWG 5 CONDUCTOR	2,470.00	0.00	2,470.00	LF	0.00	\$1.77	\$0.00
		0030	1400	9028311	CABLE, 16 AWG 7 CONDUCTOR	2,160.00	0.00	2,160.00	LF	0.00	\$2.14	\$0.00
		0030	1410	9029100	BASE, CONCRETE	4.40	0.00	4.40	CUYD	0.00	\$3,638.00	\$0.00
		0030	1420	9029902	MISC.AUDIBLE PEDESTRIAN PUSH BUTTON AND SIGNING	16.00	0.00	16.00	EA	0.00	\$1,328.94	\$0.00
		0030	1430	9029902	MISC.RECTANGULAR RAPID FLASHING BEACON ASSEMBLY	3.00	0.00	3.00	EA	0.00	\$32,374.99	\$0.00
		0030	1440	9029903	MISC.REPLACE BROKEN CONDUIT	100.00	0.00	100.00	LF	10.00	\$31.03	\$310.30
		0040	1450	9031210	STRUCTURAL STEEL POSTS	40.00	0.00	40.00	LB	0.00	\$19.10	\$0.00
		0040	1460	9031210	BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE)	15.00	0.00	15.00	EA	0.00	\$629.60	\$0.00
		0040	1470	90312724	2.25 IN. PSST POST INSERT (6 FT.) - 12 GA.	13.00	0.00	13.00	EA	0.00	\$217.93	\$0.00
		0040										
			1480	9031280	2.5 IN. PSST POST - 12 GA.	1,229.00	0.00	1,229.00	LF	0.00	\$34.50	\$0.00

Revision 5/29/2025 Page 9 of 30



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240517-	J6S3416	0040	1490	9031281A	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	104.00	0.00	104.00	EA	0.00	\$302.00	\$0.00
-08		0040	1500	9035004A	SH-FLAT SHEET	159.00	0.00	159.00	SQFT	0.00	\$40.83	\$0.00
		0040	1510	9035011A	ST-STRUCTURAL	24.00	0.00	24.00	SQFT	0.00	\$46.10	\$0.00
		0040	1520	9035069A	SHF-FLAT SHEET FLUORESCENT	9.00	0.00	9.00	SQFT	0.00	\$61.66	\$0.00
		0040	1530	9039902	MISC.BOLT DOWN POST BASE	11.00	0.00	11.00	EA	0.00	\$521.07	\$0.00
		0055	1540	2063000	CLASS 3 EXCAVATION	37.00	0.00	37.00	CUYD	37.00	\$59.04	\$2,184.48
		0055	1550	6279901	MISC.MSD AS-BUILT SUBMITTALS	1.00	0.00	1.00	LS	0.00	\$1,391.00	\$0.00
		0055	1560	7259903	MISC.15 IN. PVC PIPE	5.00	0.00	5.00	LF	5.00	\$214.00	\$1,070.00
		0055	1570	7261015	15 IN. PIPE GROUP A	2.00	0.00	2.00	LF	2.00	\$230.05	\$460.10
		0055	1580	7319903	MISC.MSD PCC 2 GRATE INLET WITH SIDE INTAKE - 42" BASE	6.00	0.00	6.00	LF	6.00	\$2,461.00	\$14,766.00
		0055	1590	7319903	MISC.MSD PCC TRAPPED 2 GRATE INLET WITH SIDE INTAKE - 42" BASE	9.00	0.00	9.00	LF	9.00	\$2,675.00	\$24,075.00
		0055	1600	7319903	MISC.TBR&R PER MSD INSPECTION	9.00	0.00	9.00	LF	0.00	\$2,140.00	\$0.00
		0060	1610	6049902	MISC.ADJUSTING FIRE HYDRANT TO GRADE	5.00	0.00	5.00	EA	0.00	\$5,000.00	\$0.00
		0060	1620	6049902	MISC.ADJUSTING GAS VALVE	60.00	0.00	60.00	EA	12.00	\$275.00	\$3,300.00
		0060	1630	6049902	MISC.ADJUSTING SANITARY SEWER MANHOLE	9.00	0.00	9.00	EA	0.00	\$880.00	\$0.00
		0060	1640	6049902	MISC.ADJUSTING STORM SEWER MANHOLE	15.00	0.00	15.00	EA	0.00	\$1,000.00	\$0.00
		0060	1650	6049902	MISC.ADJUSTING TELEPHONE MANHOLE	66.00	0.00	66.00	EA	5.00	\$440.00	\$2,200.00
		0060	1660	6049902	MISC.ADJUSTING TELEPHONE MANHOLE MISC.ADJUSTING WATER MANHOLES, METERS, AND VALVES	99.00	0.00	99.00	EA	10.00	\$275.00	\$2,750.00
		0060	1670	6049902	MISC.RELOCATE EXISTING FIRE HYDRANT	2.00	0.00	2.00	EA	0.00	\$12,000.00	\$2,730.00
		0060										
		0001	1680	9019902	MISC.ADJUST GRATE INLET	1.00	0.00	1.00	EA	0.00	\$880.00	\$0.00
		0001	5001	6189901	MISC.Misc. Contract Bond Payment	0.00	0.00	0.00	LS	0.00	\$67,500.00	\$0.00
	- · · ·		5002	6189901	MISC.Adjust Mobilization for Contract Bond correction  I to Date as of Report Generated Date		1.00	1.00	LS	1.00	\$67,090.00	\$67,090.00
		0001										\$430,500.54
	J6S3416B	0001	1690	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$22,736.13	\$0.00
		0001	1700	5021109	CONCRETE PAVEMENT ( 9 IN. NON-REINF)	17.80	0.00	17.80	SQYD	0.00	\$280.25	\$0.00
		0001	1710	6081012	TRUNCATED DOMES	96.00	0.00	96.00	SQFT	0.00	\$22.00	\$0.00
		0001	1720	6083006	6 IN. CONCRETE MEDIAN STRIP	36.30	0.00	36.30	SQYD	0.00	\$151.51	\$0.00
			1730	6089902	MISC.CONCRETE CURB RAMP (7 IN. THICK)	7.00	0.00	7.00	EA	0.00	\$3,118.83	\$0.00
		0001	1740	6089905	MISC.STAMPED CONCRETE	689.40	0.00	689.40	SQYD	0.00	\$151.24	\$0.00
		0001	1750	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	18.00	0.00	18.00	EA	0.00	\$107.00	\$0.00
		0001	1760	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	50.00	0.00	50.00	EA	0.00	\$16.05	\$0.00
		0001	1770		4 IN. YELLOW CLASS 2 PAVEMENT MARKING PAINT (25-MIL, TYPE L BEADS)	400.00	0.00	400.00	LF	0.00	\$0.20	\$0.00
		0001	1780	6207001	PAVEMENT MARKING REMOVAL	3,600.00	0.00	3,600.00	LF	0.00	\$0.54	\$0.00
		0001	1790	6208076	4 IN TEMPORARY PAVEMENT MARKING PAINT	3,600.00	0.00	3,600.00	LF	0.00	\$0.42	\$0.00
		0020	1810	9013004	CONDUIT, 4 IN. RIGID, IN TRENCH	434.00	0.00	434.00	LF	0.00	\$17.92	\$0.00
		0020	1820	9014004	CONDUIT, 4 IN. RIGID, PUSHED	61.00	0.00	61.00	LF	0.00	\$44.94	\$0.00
		0020	1830	9015010	TRENCHING TYPE I	4,149.00	0.00	4,149.00	LF	0.00	\$6.42	\$0.00
		0020	1840	9015020	TRENCHING TYPE II	461.00	0.00	461.00	LF	0.00	\$6.42	\$0.00
		0020	1850	9016110	PULL BOX, PREFORMED CLASS 1	7.00	0.00	7.00	EA	0.00	\$1,701.30	\$0.00
		0020	1880	9019902	MISC.PEDESTRIAN LIGHT POLE & LUMINAIRE	29.00	0.00	29.00	EA	0.00	\$1,311.82	\$0.00
		0020	1885	9019903	MISC.CABLE-CONDUIT, 1.5 IN., 300# PULL TAPE	6,380.00	0.00	6,380.00	LF	0.00	\$5.08	\$0.00
		0030	1890	9029902	MISC.RECTANGULAR RAPID FLASHING BEACON ASSEMBLY	2.00	0.00	2.00	EA	0.00	\$32,374.99	\$0.00
		0040	1900	9031280	2.5 IN. PSST POST - 12 GA.	44.00	0.00	44.00	LF	0.00	\$40.27	\$0.00
		0040	1910	9031281A	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	4.00	0.00	4.00	EA	0.00	\$477.33	\$0.00
		0040	1920	9035004A	SH-FLAT SHEET	36.00	0.00	36.00	SQFT	0.00	\$41.27	\$0.00
		0055	1930	2063000	CLASS 3 EXCAVATION	666.00	0.00	666.00	CUYD	0.00	\$33.00	\$0.00
		0055	1940	2063500	CULVERT CLEANOUT	1.00	0.00	1.00	EA	0.00	\$1,766.60	\$0.00
		0055	1950	6279901	MISC.MSD AS-BUILT SUBMITTALS	1.00	0.00	1.00	LS	0.00	\$1,391.00	\$0.00
		0055	1960 7259903 MISC.12 IN. PVC PIPE				0.00	17.00	LF	0.00	\$171.20	\$0.00
		0055					0.00	135.00	LF	0.00	\$176.55	\$0.00
		0055	1980	7259903	MISC.18 IN. PVC PIPE	26.00	0.00	26.00	LF	0.00	\$256.80	\$0.00
		0055	1990	7259903	MISC.21 IN. PVC PIPE	51.00	0.00	51.00	LF	0.00	\$278.20	\$0.00
		0055			104.00	0.00	104.00	LF	0.00	\$299.60	\$0.00	
		0055	00FF					0		0	,	+0.00
							0.00	2 00	1F	0.00	\$535.00	\$0.00
			2000 2010 2020	7261012 7261015	12 IN. PIPE GROUP A 15 IN. PIPE GROUP A	2.00	0.00	2.00	LF LF	0.00	\$535.00 \$642.00	\$0.00 \$0.00

Revision 5/29/2025 Page 10 of 30



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240517-	J6S3416B	0055	2040	7261021	21 IN. PIPE GROUP A	46.00	0.00	46.00	LF	0.00	\$214.00	\$0.00
F08		0055	2050	7261024	24 IN. PIPE GROUP A	19.00	0.00	19.00	LF	0.00	\$267.50	\$0.00
		0055	2060	7319903	MISC.MSD PCC 2 GRATE INLET WITH SIDE INTAKE - 42" BASE	38.00	0.00	38.00	LF	0.00	\$1,974.15	\$0.00
		0055	2070	7319903	MISC.MSD PCC DOUBLE STREET INLET	9.00	0.00	9.00	LF	0.00	\$2,107.90	\$0.00
		0055	2080	7319903	MISC.MSD PCC MANHOLE - 48" BASE	45.00	0.00	45.00	LF	0.00	\$1,926.00	\$0.00
		0055	2090	7319903	MISC.MSD PCC SHORT TOP MANHOLE - 48" BASE	3.00	0.00	3.00	LF	0.00	\$2,068.31	\$0.00
		0055	2100	7319903	MISC.MSD PCC TRAPPED 2 GRATE INLET WITH SIDE INTAKE - 42" BASE	26.00	0.00	26.00	LF	0.00	\$2,247.00	\$0.00
		0055	2110	7319903	MISC.TBR&R PER MSD INSPECTION	23.00	0.00	23.00	LF	0.00	\$1,926.00	\$0.00
		0055	2120	7319903	MISC.TRAPPED DOUBLE STREET INLET	27.00	0.00	27.00	LF	0.00	\$2,484.54	\$0.00
	Project J65	3416B - To	otal Value	Posted to I	Date as of Report Generated Date							\$0.00
240517-F	08 Overall -	Total Valu	e Posted	to Date as o	of Report Generated Date							\$2,931,025.78

Revision 5/29/2025 Page 11 of 30



## Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

#### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J6S3279

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	2022010	REMOVAL OF IMPROVEMENTS	5/30/25	6/3/25	0.15	LS		Various		Same		
0130	6181000	MOBILIZATION	5/30/25	6/3/25	0.50	LS		Various		Same		
0560	6083006	6 IN. CONCRETE MEDIAN STRIP	5/21/25	5/30/25	21.81	SQYD	Route 367	66+27		102+74		
			5/23/25	5/30/25	55.34	SQYD	Route 367	49+87		77+53		
			5/28/25	5/30/25	48.07	SQYD	Route 367	35+81		101+68		
			5/30/25	6/3/25	11.72	SQYD	Rte. 367	20+62				RMI#8
				6/3/25	11.72	SQYD	Rte. 367	21+68				RMI #10
				6/3/25	11.72	SQYD	Rte. 367	23+65				RMI #12
				6/3/25	11.72	SQYD	Rte. 367	24+67				RMI #14

#### Project: J6S3416

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0700	3040504	TYPE 5 AGGREGATE FOR BASE	5/20/25	5/27/25	24.40	SQYD	7060 Natural Bridge Parcel #43	22+90.63		23+51.07		
			5/23/25	5/30/25	6.40	SQYD	6924 Natural Bridge Parcel #57	30+05.49		31+13.49		
				5/30/25	8.30	SQYD	7000 Natural Bridge Parcel #55	29+06.07		29+73.40		
				5/30/25	15.00	SQYD	6918 Natural Bridge Parcel #59	32+05.16		32+47.46		
				5/30/25	16.70	SQYD	6916 Natural Bridge Parcel #60	32+58.26		32+98.38		
			5/29/25	5/30/25	34.40	SQYD	6914 & 6910 Natural Bridge Parcel #61 & #62	33+09.51		33+88.35		
0790	6081012	TRUNCATED DOMES	5/20/25	5/27/25	10.00	SQFT	7060 Natural Bridge Parcel #43	22+90.63		23+51.07		
			5/23/25	5/30/25	10.00	SQFT	6924 Natural Bridge Parcel #57	30+05.49		31+13.49		
0820	6086004	CONCRETE SIDEWALK, 4 IN.	5/20/25	5/27/25	24.40	SQYD	7060 Natural Bridge Parcel #43	22+90.63		23+51.07		
			5/23/25	5/30/25	6.40	SQYD	6924 Natural Bridge Parcel #57	30+05.49		31+13.49		
				5/30/25	8.30	SQYD	7000 Natural Bridge Parcel #55	29+06.07		29+73.40		
				5/30/25	15.00	SQYD	6918 Natural Bridge Parcel #59	32+05.16		32+47.46		
				5/30/25	16.70	SQYD	6916 Natural Bridge Parcel #60	32+58.26		32+98.38		
			5/29/25	5/30/25	34.40	SQYD	6914 & 6910 Natural Bridge Parcel #61 & #62	33+09.51		33+88.35		
0830	6089902	MISC. CONCRETE	5/20/25	5/27/25	1.00	EA	7060 Natural Bridge Parcel #41	22+90.63		23+51.07		
			5/23/25	5/30/25	1.00	EA	6924 Natural Bridge Parcel #57	30+05.49		31+13.49		
0850	6091010	CONCRETE CURB (6 IN. HEIGHT AND UNDER)	5/20/25	5/27/25	14.30	LF	7124 Natural Bridge Parcel #41	19+13.69		19+27.99		
			5/23/25	5/30/25	12.00	LF	6924 Natural Bridge Parcel #57	30+05.49		31+13.49		
			5/29/25	5/30/25	29.40	LF	6908 Natural Bridge Parcel #63	34+03.90		34+33.45		
				5/30/25	30.70	LF	6906 Natural Bridge Parcel #64	34+54.42		34+85.26		
0860	6092011	INTEGRAL CURB (6 IN. HEIGHT AND UNDER)	5/20/25	5/27/25	44.50	LF	7060 Natural Bridge Parcel #43	22+90.63		23+51.07		FCO
			5/23/25	5/30/25	5.00	LF	6924 Natural Bridge Parcel #57	30+05.49		31+13.49		
				5/30/25	23.00	LF	6918 Natural Bridge Parcel #59	32+05.16		32+47.46		
				5/30/25	26.00	LF	6916 Natural Bridge Parcel #60	32+58.26		32+98.38		
			5/29/25	5/30/25	52.00	LF	6914 & 6910 Natural Bridge Parcel #61 & #62	33+09.51		33+88.35		FCO
0960	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	5/30/25	6/3/25	4.00	EA		Various		Same		
0970	6169901	MISC.	5/29/25	6/3/25	0.20	LS	Rte. 115	Various		Same		
1120	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKI	5/30/25	6/3/25	0.05	LS		Various		Same		
1540	2063000	CLASS 3 EXCAVATION	5/22/25	5/30/25	2.00	CUYD	Rte. 115	15+57.41		15+58.13		Pipe ID: A3-A2
				5/30/25	12.00	CUYD	Rte. 115 - RT	15+56.89				Drainage Structure - A4
				5/30/25	23.00	CUYD	Rte. 115 - RT	15+57.41				Drainage Structure - A3
1560	7259903	MISC. METAL PIPE	5/22/25	5/30/25	5.00	LF	Rte. 115	15+57.41		15+58.13		Pipe ID: A3-A2
1570	7261015	15 IN. PIPE GROUP A	5/22/25	5/30/25	2.00	LF	Rte. 115	15+56.89		15+57.41		Pipe ID: A4-A3
1580	7319903	MISC. MANHOLES AND DROP INLETS	5/22/25	5/30/25	6.00	LF	Rte. 115 - RT	15+56.89				A4
1590	7319903	MISC. MANHOLES AND DROP INLETS	5/22/25	5/30/25	9.00	LF	Rte. 115 - RT	15+57.41				A4
1620	6049902	MISC. DRAINAGE ITEM	5/20/25	5/27/25	1.00	EA	7060 Natural Bridge Parcel #43	23+01.93				
			5/23/25	5/30/25	1.00	EA	6916 Natural Bridge Parcel #60	32+72.70				
1650	6049902	MISC. DRAINAGE ITEM	5/29/25	5/30/25	1.00	EA	6914 & 6910 Natural Bridge Parcel #61 & #62	33+55.95				
1660	6049902	MISC. DRAINAGE ITEM	5/20/25	5/27/25	1.00	EA	7060 Natural Bridge Parcel #43	23+14.82				
				5/27/25	1.00	EA	7060 Natural Bridge Parcel #43	23+15.00		23+15.00		FCO

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 5/29/2025 Page 12 of 30



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3279	0020	TYPE 5 AGGREGATE	Price FUEL		2	Dec 16, 2024	SYSTEM	(\$0.49)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
		FOR BASE			5	Feb 3, 2025	SYSTEM	(\$0.74)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					8	Mar 17, 2025	SYSTEM	(\$1.21)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$2.44)	
			Price FUEL -	Total				(\$2.44)	
	0020 -	Total						(\$2.44)	
	0030	ASPHALTIC CONCRETE MIXTURE PG	Material		12	May 16, 2025	SYSTEM	(\$1,569,111.71)	
		70-22 (SP1			12	May 16, 2025	SYSTEM	\$1,569,111.71	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user cunnid3 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					13	Jun 3, 2025	SYSTEM	(\$1,569,111.71)	
					13	Jun 3, 2025	SYSTEM	\$1,569,111.71	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user cunnid3 overridding Payment Estimate Exception 4 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
			Other Item Adjustment	ACAD	9	Apr 3, 2025	cunnid3	(\$4,158.62)	SP125 - 1551 tons Virgin AC - 3.9% Current Index: 511.25 Base index: 580 Index Difference: -68.75
					10	Apr 17, 2025	washid1	(\$3,871.73)	SP125 (23-14) - 1444 Tons Virgin AC - 3.9% Current Index: 511.25 Base Index: 580 Index Difference: -68.75
					12	May 16, 2025	cunnid3	(\$10,439.38)	SP125 (23-14) - 4040.40 Virgin AC - 3.9% Current Index: 513.75 Base Index: 580 Index Difference: -66.25
					12	May 16, 2025	cunnid3	(\$2,266.81)	SP125 (23-18) - 658 Virgin AC - 5.2% Current Index: 513.75 Base Index: 580 Index Difference: -66.25
				ACAD - Tota	al			(\$20,736.54)	
					11	May 2, 2025	cunnid3	(\$5,339.98)	SP125 (23-14) - 1,991.6 Virgin AC - 3.9% Current Index: 511.25 Base Index: 580 Index Difference: -68.75
				- Total				(\$5,339.98)	
			Other Item A	djustment - T	otal			(\$26,076.52)	
			Price FUEL		9	Apr 2, 2025	SYSTEM	(\$1,865.42)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					10	Apr 17, 2025	SYSTEM	(\$1,126.61)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					11	May 2, 2025	SYSTEM	(\$1,553.85)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					12	May 16, 2025	SYSTEM	(\$5,958.70)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$10,504.58)	
			Price FUEL -	Total				(\$10,504.58)	
	0030 -	Total						(\$36,581.10)	
	0040	TACK COAT	Material		10	Apr 17, 2025	SYSTEM	(\$8,016.75)	
					10	Apr 17, 2025	SYSTEM	\$8,016.75	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user washid1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					11	May 2,	SYSTEM	(\$12,070.80)	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3279	0040	TACK COAT	Material			2025			
					11	May 2, 2025	SYSTEM	\$12,070.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user cunnid3 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					12	May 16, 2025	SYSTEM	(\$21,583.80)	
					12	May 16, 2025	SYSTEM	\$21,583.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user cunnid3 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					13	Jun 3, 2025	SYSTEM	(\$21,583.80)	
					13	Jun 3, 2025	SYSTEM	\$21,583.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user cunnid3 overridding Payment Estimate Exception 5 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0040 -	Total						\$0.00	
	0800	8 IN. CONCRETE MEDIAN STRIP	Material		6	Feb 18, 2025	SYSTEM	(\$9,008.71)	
					6	Feb 18, 2025	SYSTEM	\$9,008.71	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user cunnid3 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					7	Mar 1, 2025	SYSTEM	(\$9,008.71)	
					7	Mar 1, 2025	SYSTEM	\$9,008.71	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user cunnid3 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					8	Mar 17, 2025	SYSTEM	(\$9,008.71)	
					8	Mar 17, 2025	SYSTEM	\$9,008.71	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user washid1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					9	Apr 2, 2025	SYSTEM	(\$9,008.71)	
					9	Apr 3, 2025	SYSTEM	\$9,008.71	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user cunnid3 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					10	Apr 17, 2025	SYSTEM	(\$9,008.71)	
					10	Apr 17, 2025	SYSTEM	\$9,008.71	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user washid1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0080 -	Total						\$0.00	
	0090	CONCRETE SIDEWALK, 4 IN.	Material		2	Dec 16, 2024	SYSTEM	(\$1,960.15)	
					2	Dec 16, 2024	SYSTEM	\$1,960.15	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user washid1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					3	Jan 2, 2025	SYSTEM	(\$1,960.15)	
					3	Jan 2, 2025	SYSTEM	\$1,960.15	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user cunnid3 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					4	Jan 16, 2025	SYSTEM	(\$1,960.15)	
					4	Jan 16, 2025	SYSTEM	\$1,960.15	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user cunnid3 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					5	Feb 3, 2025	SYSTEM	(\$5,018.69)	
					5	Feb 3, 2025	SYSTEM	\$5,018.69	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user cunnid3 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					6	Feb 18,	SYSTEM	(\$5,018.69)	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks					
J6S3279	0090	CONCRETE	Material			2025								
		SIDEWALK, 4 IN.			6	Feb 18, 2025	SYSTEM	\$5,018.69	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user cunnid3 overridding Payment Estimate Exception 6 on the current Payment Estimate.					
					7	Mar 1, 2025	SYSTEM	(\$5,018.69)						
					7	Mar 1, 2025	SYSTEM	\$5,018.69	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user cunnid3 overridding Payment Estimate Exception 6 on the current Payment Estimate.					
					8	Mar 17, 2025	SYSTEM	(\$10,436.47)						
					8	Mar 17, 2025	SYSTEM	\$10,436.47	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user washid1 overridding Payment Estimate Exception 10 on the current Payment Estimate.					
					9	Apr 2, 2025	SYSTEM	(\$10,436.47)						
					9	Apr 3, 2025	SYSTEM	\$10,436.47	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user cunnid3 overridding Payment Estimate Exception 9 on the current Payment Estimate.					
					10	Apr 17, 2025	SYSTEM	(\$10,436.47)						
					10	Apr 17, 2025	SYSTEM	\$10,436.47	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user washid1 overridding Payment Estimate Exception 10 on the current Payment Estimate.					
				- Total				\$0.00						
			Material - To	tal				\$0.00						
	0090 -	Total						\$0.00						
	0100	MISC. CONCRETE	Material		2	Dec 16, 2024	SYSTEM	(\$5,035.84)						
					2	Dec 16, 2024	SYSTEM	\$5,035.84	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user washid1 overridding Payment Estimate Exception 5 on the current Payment Estimate.					
					3	Jan 2, 2025	SYSTEM	(\$10,071.68)						
					3	Jan 2, 2025	SYSTEM	\$10,071.68	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user cunnid3 overridding Payment Estimate Exception 7 on the current Payment Estimate.					
					4	Jan 16, 2025	SYSTEM	(\$10,071.68)						
										4	Jan 16, 2025	SYSTEM	\$10,071.68	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user cunnid3 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					5	Feb 3, 2025	SYSTEM	(\$10,071.68)						
					5	Feb 3, 2025	SYSTEM	\$10,071.68	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user cunnid3 overridding Payment Estimate Exception 7 on the current Payment Estimate.					
					6	Feb 18, 2025	SYSTEM	(\$27,697.12)						
					6	Feb 18, 2025	SYSTEM	\$27,697.12	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user cunnid3 overridding Payment Estimate Exception 8 on the current Payment Estimate.					
					7	Mar 1, 2025	SYSTEM	(\$32,732.96)						
					7	Mar 1, 2025	SYSTEM	\$32,732.96	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user cunnid3 overridding Payment Estimate Exception 8 on the current Payment Estimate.					
					8	Mar 17, 2025	SYSTEM	(\$32,732.96)						
					8	Mar 17, 2025	SYSTEM	\$32,732.96	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user washid1 overridding Payment Estimate Exception 13 on the current Payment Estimate.					
					9	Apr 2, 2025	SYSTEM	(\$32,732.96)	-					
					9	Apr 3, 2025	SYSTEM	\$32,732.96	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user cunnid3 overridding Payment Estimate Exception 12 on the current Payment Estimate.					



Construction   Stockpile   STM   Total   South   Sou	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
Page	0100	MISC. CONCRETE	Material		10		SYSTEM	(\$32,732.96)	
Material - Total					10		SYSTEM	\$32,732.96	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user washid1 overridding Payment Estimate Exception 13 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
TYPE 38	0100	- Total						\$0.00	
	0290					2025		,	
Construction Stockpile - Total    Construction Stockpile - Total   12,983.76				Total	10		SYSTEM	. ,	Payment Estimate Item Adjustment generated Stockpile Transaction
Construction   Stockpile   Transaction   Stockpile   Transaction   Stockpile   Stationary   St			Construction		Cotal				
Stockple   STM				i Stockpile - I		Mor 17	CVCTEM		Doument Estimate Item Adjustment generated Steeknile Transaction
Construction Stockpile STMI - Total			Stockpile	Total	0		SYSTEM		Payment Estimate tiem Adjustment generated Stockpile Transaction
Material   9			Construction		FMI Total				
Part				- этоскрие 5 г			SYSTEM		
Construction   Cons			waterial		3		SISIEW	(ΨΖ,υΖΙ.ΘΖ)	
Naterial - Total   Sept.					9		SYSTEM	\$2,627.92	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user cunnid3 overridding Payment Estimate Exception 16 on the current Payment Estimate.
Sept.   Sept				- Total				\$0.00	
SH-FLAT SHEET - SIGNAL SIGN			Material - To	tal				\$0.00	
SIGNAL SIGN	0290	- Total						\$592.75	
2025   SYSTEM   Estimate Item Adjustment (0008) due to user washiot overridding Paym Estimate Exception 16 on the current Payment Estimate.	0300		Material		10		SYSTEM	(\$3,145.80)	
1					10		SYSTEM	\$3,145.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user washid1 overridding Payment Estimate Exception 16 on the current Payment Estimate.
2025   Estimate Item Adjustment (0004) due to user cunnid3 overridding Paymet Estimate Exception 11 on the current Payment Estimate.					11		SYSTEM	(\$3,145.80)	
2025   12   May 16, SYSTEM   \$3,145.80   This adjustment offsets the original system-generated Material Payment Estimate Exception 15 on the current Payment Estimate.   13   Jun 3, 2025   20					11		SYSTEM	\$3,145.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user cunnid3 overridding Payment Estimate Exception 11 on the current Payment Estimate.
2025   Estimate Item Adjustment (0006) due to user cunnid3 overridding Paym Estimate Exception 15 on the current Payment Estimate.					12		SYSTEM	(\$3,145.80)	
2025   13					12		SYSTEM	\$3,145.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user cunnid3 overridding Payment Estimate Exception 15 on the current Payment Estimate.
Substitute   Sub					13		SYSTEM	(\$3,145.80)	
Material - Total   \$0.00					13		SYSTEM	\$3,145.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user cunnid3 overridding Payment Estimate Exception 19 on the current Payment Estimate.
Signal				- Total				\$0.00	
0310   SIGNAL SIGN,   MOUNTING   HARDWARE   Construction   Stockpile   10   Apr 17,   2025   SYSTEM   (\$2,297.46)   Payment Estimate Item Adjustment generated Stockpile Transaction   (\$2,297.46)			Material - To	tal				\$0.00	
MOUNTING   HARDWARE	0300	- Total						\$0.00	
Construction Stockpile - Total   (\$2,297.46)	0310	MOUNTING			10		SYSTEM	(\$2,297.46)	Payment Estimate Item Adjustment generated Stockpile Transaction
Construction Stockpile STMI									
Stockpile   STMI   2025				Stockpile - 1					
Construction Stockpile STMI - Total \$2,488.92  0310 - Total \$191.46  0320 POST, SIGNAL 8 Construction Stockpile 10 Apr 17, 2025 Payment Estimate Item Adjustment generated Stockpile Transaction			Stockpile		8		SYSTEM		Payment Estimate Item Adjustment generated Stockpile Transaction
0310 - Total     \$191.46       0320     POST, SIGNAL 8 FT.     Construction Stockpile     10     Apr 17, 2025     SYSTEM (\$803.48)     Payment Estimate Item Adjustment generated Stockpile Transaction Payment Generated Stockpile Transaction									
0320 POST, SIGNAL 8 Construction Stockpile 10 Apr 17, 2025 Payment Estimate Item Adjustment generated Stockpile Transaction			Construction	Stockpile S1	MI - Total				
		POST, SIGNAL 8			10		SYSTEM		Payment Estimate Item Adjustment generated Stockpile Transaction
- I otal (\$803.48)		FI.	Stockpile	- Total		2025		(\$803.48)	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks					
J6S3279	0320	POST, SIGNAL 8	Construction	Stockpile -	Total			(\$803.48)						
		FT.	Construction Stockpile STMI		8	Mar 17, 2025	SYSTEM	\$803.48	Payment Estimate Item Adjustment generated Stockpile Transaction					
			STIVII	- Total				\$803.48						
			Construction	Stockpile S	TMI - Total			\$803.48						
			Material		10	Apr 17, 2025	SYSTEM	(\$1,181.28)						
					10	Apr 17, 2025	SYSTEM	\$1,181.28	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user washid1 overridding Payment Estimate Exception 17 on the current Payment Estimate.					
					11	May 2, 2025	SYSTEM	(\$1,181.28)						
					11	May 2, 2025	SYSTEM	\$1,181.28	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user cunnid3 overridding Payment Estimate Exception 12 on the current Payment Estimate.					
					12	May 16, 2025	SYSTEM	(\$1,181.28)						
					12	May 16, 2025	SYSTEM	\$1,181.28	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user cunnid3 overridding Payment Estimate Exception 16 on the current Payment Estimate.					
					13	Jun 3, 2025	SYSTEM	(\$1,181.28)						
					13	Jun 3, 2025	SYSTEM	\$1,181.28	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user cunnid3 overridding Payment Estimate Exception 20 on the current Payment Estimate.					
				- Total				\$0.00						
		Total	Material - To	tal				\$0.00						
	P							\$0.00						
		ACCESSIBLE PEDESTRIAN	Construction Stockpile		9	Apr 2, 2025	SYSTEM	(\$7,502.80)	Payment Estimate Item Adjustment generated Stockpile Transaction					
		PEDESTRIAN SIGNAL		SIGNAL	SIGNAL	SIGNAL	SIGNAL			10	Apr 17, 2025	SYSTEM	(\$8,440.65)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$15,943.45)						
			Construction	Stockpile -	Total			(\$15,943.45)						
			Construction Stockpile STMI		8	Mar 17, 2025	SYSTEM	\$31,886.90	Payment Estimate Item Adjustment generated Stockpile Transaction					
			STIVII	- Total				\$31,886.90						
			Construction	Stockpile S	TMI - Total			\$31,886.90						
			Material		9	Apr 2, 2025	SYSTEM	(\$10,631.52)						
					9	Apr 3, 2025	SYSTEM	\$10,631.52	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user cunnid3 overridding Payment Estimate Exception 17 on the current Payment Estimate.					
				- Total				\$0.00						
			Material - To	tal				\$0.00						
	0330 -	Total						\$15,943.45						
	0340	CONDUIT, 3 IN., TRENCH WITH TRACER WIRE	Material		9	Apr 2, 2025	SYSTEM	(\$1,749.45)						
		INACER WIRE				9	Apr 3, 2025	SYSTEM	\$1,749.45	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user cunnid3 overridding Payment Estimate Exception 18 on the current Payment Estimate.				
					10	Apr 17, 2025	SYSTEM	(\$1,749.45)						
				11	10	Apr 17, 2025	SYSTEM	\$1,749.45	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user washid1 overridding Payment Estimate Exception 19 on the current Payment Estimate.					
					11	May 2, 2025	SYSTEM	(\$1,749.45)						
					11	May 2, 2025	SYSTEM	\$1,749.45	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user cunnid3 overridding Payment Estimate Exception 14 on the current Payment Estimate.					
					12	May 16,	SYSTEM	(\$1,749.45)						
						2025								



ject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
3279	0340	CONDUIT, 3 IN., TRENCH WITH TRACER WIRE	Material		12	May 16, 2025	SYSTEM	\$1,749.45	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user cunnid3 overridding Payment Estimate Exception 18 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To					\$0.00	
	0340 -	Total	material 10					\$0.00	
			Makadal		0	A O	OVOTEM		
	0350	CONDUIT, 3 IN., PUSHED WITH TRACER WIRE	Material		9	Apr 2, 2025	SYSTEM	(\$1,504.42)	
					9	Apr 3, 2025	SYSTEM	\$1,504.42	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user cunnid3 overridding Payment Estimate Exception 19 on the current Payment Estimate.
					10	Apr 17, 2025	SYSTEM	(\$1,504.42)	
					10	Apr 17, 2025	SYSTEM	\$1,504.42	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user washid1 overridding Payment Estimate Exception 20 on the current Payment Estimate.
					11	May 2, 2025	SYSTEM	(\$1,504.42)	
					11	May 2, 2025	SYSTEM	\$1,504.42	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user cunnid3 overridding Payment Estimate Exception 15 on the current Payment Estimate.
					12	May 16, 2025	SYSTEM	(\$1,504.42)	
					12	May 16, 2025	SYSTEM	\$1,504.42	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user cunnid3 overridding Payment Estimate Exception 19 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0350 -	Total						\$0.00	
		CABLE, 16 AWG 2 CONDUCTOR	Material		9	Apr 2, 2025	SYSTEM	(\$3,840.90)	
					9	Apr 3, 2025	SYSTEM	\$3,840.90	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user cunnid3 overridding Payment Estimate Exception 20 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0360 -	Total						\$0.00	
	0370	CABLE, 16 AWG 5 CONDUCTOR	Material		9	Apr 2, 2025	SYSTEM	(\$460.20)	
					9	Apr 3, 2025	SYSTEM	\$460.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user cunnid3 overridding Payment Estimate Exception 21 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0370 -	Total						\$0.00	
	0380	BASE, CONCRETE	Material		9	Apr 2, 2025	SYSTEM	(\$1,455.20)	
					9	Apr 3, 2025	SYSTEM	\$1,455.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user cunnid3 overridding Payment Estimate Exception 22 on the current Payment Estimate.
					10	Apr 17, 2025	SYSTEM	(\$1,455.20)	
					10	Apr 17, 2025	SYSTEM	\$1,455.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user washid1 overridding Payment Estimate Exception 22 on the current Payment Estimate.
					11	May 2, 2025	SYSTEM	(\$1,455.20)	
					11	May 2, 2025	SYSTEM	\$1,455.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user cunnid3 overridding Payment Estimate Exception 17 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To					\$0.00	
	0380 -	Total						\$0.00	
	JJ0U -	ı otal						<b>Φ</b> υ.υυ	



	Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
Total	J6S3279	0400	MISC.			9		SYSTEM	(\$3,071.88)	Payment Estimate Item Adjustment generated Stockpile Transaction
Construction Stockpile - Total  Construction Stockpile - Total  For a Stock of the Construction Stockpile STM - Total  Construction Stockpile STM - Total  For a Stock of the Construction Stockpile STM - Total  For a Stock of the Construction Stockpile STM - Total  For a Stock of the Construction Stockpile STM - Total  For a Stock of the Construction Stockpile STM - Total  Material  For a Stock of the Construction Stockpile STM - Total  Material  For a Stock of the Construction Stockpile STM - Total  For a Stock of the Construction Stockpile STM - Total  For a Stock of the Construction Stockpile STM - Total  For a Stock of the Construction Stockpile STM - Total  For a Stockpi						10		SYSTEM	(\$3,814.53)	Payment Estimate Item Adjustment generated Stockpile Transaction
Construction   Stockple   STM   - Total   Stockple   STM   Style   St					- Total				(\$6,886.41)	
Stockjole   2025				Construction	Stockpile -	Total			(\$6,886.41)	
Construction Stockpile   \$7141 - Total				Stockpile		8		SYSTEM	\$10,532.16	Payment Estimate Item Adjustment generated Stockpile Transaction
Material				STIVII	- Total				\$10,532.16	
Part				Construction	Stockpile S	TMI - Total			\$10,532.16	
Total   S000				Material		9		SYSTEM	(\$4,995.83)	
Material - Total   South   S						9		SYSTEM	\$4,995.83	Estimate Item Adjustment (0020) due to user cunnid3 overridding Payment
Construction Stockpile   Page   Page   System   Page   P					- Total				\$0.00	
Construction Stockpile   Page 17   SYSTEM   (\$1,206.20)   Page 20   Page 2				Material - To	tal				\$0.00	
Stockpile   2025		0400	Total						\$3,645.75	
Total   (\$3.015.70)		0410	MISC.			9		SYSTEM	(\$1,206.28)	Payment Estimate Item Adjustment generated Stockpile Transaction
Construction Stockpile - Total   System   Syst						10		SYSTEM	(\$1,809.42)	Payment Estimate Item Adjustment generated Stockpile Transaction
Construction Slockpile Transaction Slockpile STMI - Total ST.237.68   Payment Estimate Item Adjustment generated Slockpile Transaction Slockpile STMI - Total ST.237.68    Material 9 Apr 2, SYSTEM S1.846.82   This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0022) due to user cunnoid overridding Payment Estimate Item Adjustment (0022) due to user cunnoid overridding Payment Estimate Item Adjustment Great Item Adj					- Total				(\$3,015.70)	
Stockpile   2025				Construction	Stockpile -	Total			(\$3,015.70)	
Construction Stockpile STMI - Total				Stockpile		8		SYSTEM	\$7,237.68	Payment Estimate Item Adjustment generated Stockpile Transaction
Material   9				OTIVII	- Total				\$7,237.68	
2025   9   Apr 3, 2025   1,846.82   This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0022) due to user cunnid3 overridding Payment Estimate Exception 25 on the current Payment Estimate.				Construction	Stockpile S	TMI - Total			\$7,237.68	
Substitution   Estimate   Emandijustment (0022) due to user cunnid3 overridding Payment				Material		9		SYSTEM	(\$1,846.82)	
Material - Total						9		SYSTEM	\$1,846.82	Estimate Item Adjustment (0022) due to user cunnid3 overridding Payment
0410 - Total					- Total				\$0.00	
Odd   MISC.   Construction   Stockpile   -Total   Construction   Stockpile   -Total   Construction   Stockpile   -Total   Construction   Stockpile   -Total   State				Material - To	tal				\$0.00	
Stockpile		0410 -	- Total						\$4,221.98	
Construction Stockpile - Total  Construction Stockpile STMI - Total  S147.34  Construction Stockpile STMI - Total  S147.34  Construction Stockpile STMI - Total  S0.00  MISC.  Construction Stockpile - Total  S94,570.02  Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile STMI - Total  S94,570.02  Construction Stockpile STMI - Total  S94,570.02  Construction Stockpile STMI - Total  S94,570.02  Construction Stockpile STMI - Total  S94,570.02  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user cunnid3 overridding Payment Estimate Exception 26 on the current Payment Estimate.		0420	MISC.			10		SYSTEM	(\$147.34)	Payment Estimate Item Adjustment generated Stockpile Transaction
Construction Stockpile STMI - Total \$147.34 Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile STMI - Total \$147.34    Construction Stockpile STMI - Total \$147.34    Construction Stockpile STMI - Total \$0.00    MISC. Construction Stockpile - Total \$31,523.34) Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile - Total \$31,523.34)    Construction Stockpile - Total \$34,570.02 Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile STMI - Total \$94,570.02 Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile STMI - Total \$94,570.02 Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile STMI - Total \$94,570.02 Payment Estimate Item Adjustment generated Material Payment Estimate Item Adjustment offsets the original system-generated Material Payment Estimate Item Adjustment Offsets the original system-generated Material Payment Estimate Item Adjustment Offsets the original system-generated Material Payment Estimate Item Adjustment Offsets on the current Payment Estimate Exception 26 on the current Payment Estimate.					- Total				(\$147.34)	
Stockpile STMI - Total \$147.34  Construction Stockpile STMI - Total \$147.34  0420 - Total \$0.00  0430 MISC. Construction Stockpile - Total \$31,523.34) Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile - Total \$31,523.34)  Construction Stockpile - Total \$34,570.02  Construction Stockpile STMI - Total \$34,570.02  Construction Stockpile STMI - Total \$34,570.02  Construction Stockpile STMI - Total \$34,570.02  Material 9 Apr 2, 2025 \$94,570.02  Material 9 Apr 3, SYSTEM \$43,067.50  9 Apr 3, SYSTEM \$43,067.50  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user cunnid3 overridding Payment Estimate Exception 26 on the current Payment Estimate.				Construction	Stockpile -	Total			(\$147.34)	
Construction Stockpile STMI - Total   \$147.34				Stockpile		8		SYSTEM	\$147.34	Payment Estimate Item Adjustment generated Stockpile Transaction
Construction Stockpile   9									\$147.34	
O430 MISC.  Construction Stockpile  - Total  Construction Stockpile  - Total  (\$31,523.34)  Construction Stockpile  STMI  Construction Stockpile  - Total  8 Mar 17, 2YSTEM (\$31,523.34)  - Total  Sy4,570.02  Construction Stockpile  STMI  - Total  Sy4,570.02  Construction Stockpile STMI - Total  Sy4,570.02  Material  9 Apr 2, 2025  SYSTEM (\$43,067.50)  9 Apr 3, 2025  SYSTEM (\$43,067.50)  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user cunnid3 overridding Payment Estimate Exception 26 on the current Payment Estimate.				Construction	Stockpile S	TMI - Total				
Stockpile  - Total  (\$31,523.34)  Construction Stockpile - Total  (\$31,523.34)  Construction Stockpile STMI  - Total  Sy4,570.02  Construction Stockpile STMI  - Total  \$94,570.02  Construction Stockpile STMI - Total  \$94,570.02  Material  9 Apr 2, 2025  9 Apr 3, 2025  SYSTEM  \$43,067.50  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user cunnid3 overridding Payment Estimate Exception 26 on the current Payment Estimate.										
Construction Stockpile - Total  Construction Stockpile STMI  - Total  System \$94,570.02 Payment Estimate Item Adjustment generated Stockpile Transaction \$94,570.02 Payment Estimate Item Adjustment generated Stockpile Transaction \$94,570.02 Payment Estimate Item Adjustment generated Stockpile Transaction \$100 Payment Item Payment		0430	MISC.			9		SYSTEM	, , ,	Payment Estimate Item Adjustment generated Stockpile Transaction
Construction Stockpile STMI  - Total  Sy4,570.02 Payment Estimate Item Adjustment generated Stockpile Transaction  \$94,570.02  Construction Stockpile STMI - Total  \$94,570.02  Material  9 Apr 2, 2025  9 Apr 3, 2025  SYSTEM \$43,067.50  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user cunnid3 overridding Payment Estimate Exception 26 on the current Payment Estimate.										
Stockpile STMI  - Total \$94,570.02  Construction Stockpile STMI - Total \$94,570.02  Material 9 Apr 2, 2025 9 Apr 3, 2025 9 Apr 3, 2025 SYSTEM \$43,067.50 This adjustment offsets the original system-generated Material Payment Estimate Exception 26 on the current Payment Estimate.					Stockpile -					
- Total \$94,570.02  Construction Stockpile STMI - Total \$94,570.02  Material 9 Apr 2, 2025 (\$43,067.50)  9 Apr 3, 2025 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user cunnid3 overridding Payment Estimate Exception 26 on the current Payment Estimate.				Stockpile		8		SYSTEM	\$94,570.02	Payment Estimate Item Adjustment generated Stockpile Transaction
Material  9 Apr 2, 2025  9 Apr 3, 2025  SYSTEM (\$43,067.50)  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user cunnid3 overridding Payment Estimate Exception 26 on the current Payment Estimate.										
9 Apr 3, 2025  SYSTEM \$43,067.50 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user cunnid3 overridding Payment Estimate Exception 26 on the current Payment Estimate.				Construction	Stockpile S	TMI - Total			\$94,570.02	
2025 Estimate Item Adjustment (0024) due to user cunnid3 overridding Payment Estimate Exception 26 on the current Payment Estimate.				Material		9		SYSTEM	(\$43,067.50)	
- Total \$0.00						9		SYSTEM	\$43,067.50	Estimate Item Adjustment (0024) due to user cunnid3 overridding Payment
					- Total				\$0.00	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks					
J6S3279	0430	MISC.	Material - To	tal				\$0.00						
	0430 -	Total						\$63,046.68						
	0500	TYPE 5 AGGREGATE FOR BASE	Price FUEL		3	Jan 2, 2025	SYSTEM	(\$0.82)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL					
					4	Jan 16, 2025	SYSTEM	(\$0.80)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL					
					5	Feb 3, 2025	SYSTEM	(\$0.83)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL					
					6	Feb 18, 2025	SYSTEM	(\$0.62)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL					
					7	Mar 1, 2025	SYSTEM	(\$1.43)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL					
					8	Mar 17, 2025	SYSTEM	(\$0.21)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL					
				- Total				(\$4.71)						
			Price FUEL -	Total				(\$4.71)						
		- Total						(\$4.71)						
	0530	CONCRETE BASE (7 IN. NON-	Material		2	Dec 16, 2024	SYSTEM	(\$5,813.78)						
		REINF)			2	Dec 16, 2024	SYSTEM	\$5,813.78	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user washid1 overridding Payment Estimate Exception 1 on the current Payment Estimate.					
					3	Jan 2, 2025	SYSTEM	(\$5,813.78)						
										3	Jan 2, 2025	SYSTEM	\$5,813.78	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user cunnid3 overridding Payment Estimate Exception 1 on the current Payment Estimate.
							4	Jan 16, 2025	SYSTEM	(\$5,813.78)				
					4	Jan 16, 2025	SYSTEM	\$5,813.78	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user cunnid3 overridding Payment Estimate Exception 1 on the current Payment Estimate.					
					5	Feb 3, 2025	SYSTEM	(\$5,813.78)						
					5	Feb 3, 2025	SYSTEM	\$5,813.78	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user cunnid3 overridding Payment Estimate Exception 1 on the current Payment Estimate.					
					6	Feb 18, 2025	SYSTEM	(\$5,813.78)						
					6	Feb 18, 2025	SYSTEM	\$5,813.78	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user cunnid3 overridding Payment Estimate Exception 1 on the current Payment Estimate.					
					7	Mar 1, 2025	SYSTEM	(\$5,813.78)						
					7	Mar 1, 2025	SYSTEM	\$5,813.78	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user cunnid3 overridding Payment Estimate Exception 1 on the current Payment Estimate.					
					8	Mar 17, 2025	SYSTEM	(\$5,813.78)						
					8	Mar 17, 2025	SYSTEM	\$5,813.78	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user washid1 overridding Payment Estimate Exception 2 on the current Payment Estimate.					
					9	Apr 2, 2025	SYSTEM	(\$5,813.78)						
					9	Apr 3, 2025	SYSTEM	\$5,813.78	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0025) due to user cunnid3 overridding Payment Estimate Exception 3 on the current Payment Estimate.					
					10	Apr 17, 2025	SYSTEM	(\$5,813.78)						
					10	Apr 17, 2025	SYSTEM	\$5,813.78	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user washid1 overridding Payment Estimate Exception 4 on the current Payment Estimate.					
					11	May 2, 2025	SYSTEM	(\$5,813.78)						
				11	May 2, 2025	SYSTEM	\$5,813.78	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user cunnid3 overridding Payment						



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3279	0530	CONCRETE BASE	Material						Estimate Exception 4 on the current Payment Estimate.
		( 7 IN. NON- REINF)			12	May 16, 2025	SYSTEM	(\$5,813.78)	
					12	May 16, 2025	SYSTEM	\$5,813.78	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user cunnid3 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					13	Jun 3, 2025	SYSTEM	(\$5,813.78)	
					13	Jun 3, 2025	SYSTEM	\$5,813.78	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user cunnid3 overridding Payment Estimate Exception 6 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
			Price FUEL		2	Dec 16, 2024	SYSTEM	(\$5.11)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$5.11)	
			Price FUEL -	Total				(\$5.11)	
	0530 -	Total						(\$5.11)	
	0550	TRUNCATED DOMES	Material		3	Jan 2, 2025	SYSTEM	(\$528.00)	
					3	Jan 2, 2025	SYSTEM	\$528.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user cunnid3 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					4	Jan 16, 2025	SYSTEM	(\$1,056.00)	
					4	Jan 16, 2025	SYSTEM	\$1,056.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user cunnid3 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					5	Feb 3, 2025	SYSTEM	(\$1,584.00)	
					5	Feb 3, 2025	SYSTEM	\$1,584.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user cunnid3 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					6	Feb 18, 2025	SYSTEM	(\$1,804.00)	
					6	Feb 18, 2025	SYSTEM	\$1,804.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user cunnid3 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					7	Mar 1, 2025	SYSTEM	(\$2,860.00)	
					7	Mar 1, 2025	SYSTEM	\$2,860.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user cunnid3 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					8	Mar 17, 2025	SYSTEM	(\$2,860.00)	
					8	Mar 17, 2025	SYSTEM	\$2,860.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user washid1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					9	Apr 2, 2025	SYSTEM	(\$2,860.00)	
					9	Apr 3, 2025	SYSTEM	\$2,860.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user cunnid3 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					10	Apr 17, 2025	SYSTEM	(\$2,860.00)	
					10	Apr 17, 2025	SYSTEM	\$2,860.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user washid1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					11	May 2, 2025	SYSTEM	(\$2,860.00)	
					11	May 2, 2025	SYSTEM	\$2,860.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user cunnid3 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					12	May 16, 2025	SYSTEM	(\$2,860.00)	
					12	May 16,	SYSTEM	\$2,860.00	This adjustment offsets the original system-generated Material Payment



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3279	0550	TRUNCATED DOMES	Material			2025			Estimate Item Adjustment (0001) due to user cunnid3 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					13	Jun 3, 2025	SYSTEM	(\$2,860.00)	
					13	Jun 3, 2025	SYSTEM	\$2,860.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user cunnid3 overridding Payment Estimate Exception 7 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0550 -	Total						\$0.00	
	0560	6 IN. CONCRETE MEDIAN STRIP	Material		13	Jun 3, 2025	SYSTEM	(\$16,562.90)	
					13	Jun 3, 2025	SYSTEM	\$16,562.90	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user cunnid3 overridding Payment Estimate Exception 9 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0560 -	Total						\$0.00	
	0580	CONCRETE SIDEWALK, 4 IN.	Material		3	Jan 2, 2025	SYSTEM	(\$1,601.44)	
					3	Jan 2, 2025	SYSTEM	\$1,601.44	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user cunnid3 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					4	Jan 16, 2025	SYSTEM	(\$3,473.12)	
					4	Jan 16, 2025	SYSTEM	\$3,473.12	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user cunnid3 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					5	Feb 3, 2025	SYSTEM	(\$5,370.83)	
					5	Feb 3, 2025	SYSTEM	\$5,370.83	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user cunnid3 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					6	Feb 18, 2025	SYSTEM	(\$7,058.35)	
					6	Feb 18, 2025	SYSTEM	\$7,058.35	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user cunnid3 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					7	Mar 1, 2025	SYSTEM	(\$10,395.35)	
					7	Mar 1, 2025	SYSTEM	\$10,395.35	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user cunnid3 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					8	Mar 17, 2025	SYSTEM	(\$10,934.83)	
					8	Mar 17, 2025	SYSTEM	\$10,934.83	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user washid1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
					9	Apr 2, 2025	SYSTEM	(\$10,934.83)	
					9	Apr 3, 2025	SYSTEM	\$10,934.83	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user cunnid3 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					10	Apr 17, 2025	SYSTEM	(\$10,934.83)	
					10	Apr 17, 2025	SYSTEM	\$10,934.83	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0020) due to user washid1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0580 -	Total						\$0.00	
	0590	MISC. CONCRETE	Material		2	Dec 16, 2024	SYSTEM	(\$4,943.66)	
					2	Dec 16, 2024	SYSTEM	\$4,943.66	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user washid1 overridding Payment



Separate	Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
3   20.5	J6S3279	0590	MISC. CONCRETE	Material						Estimate Exception 7 on the current Payment Estimate.
2025   2026   2027						3		SYSTEM	(\$27,190.13)	
						3		SYSTEM	\$27,190.13	Estimate Item Adjustment (0007) due to user cunnid3 overridding Payment
2005   SYSTEM   (\$38,040,28)   This adjustment (\$000) such to user current's overrideing Payment Estimate.   SySTEM   (\$38,040,28)   This adjustment (\$000) such to user current's overrideing Payment Estimate.   SySTEM   SYSTEM   (\$44,402,94)   SYSTEM   SYSTEM   SET (\$44,402,94)   SYSTEM   SET (\$44,402,94)   SYSTEM   SYSTEM   SET (\$44,402,94)   SYSTEM   S						4		SYSTEM	(\$37,077.45)	
S						4		SYSTEM	\$37,077.45	Estimate Item Adjustment (0007) due to user cunnid3 overridding Payment
2025   SYSTEM   C544402.94   Statistical Exception is not the current Payment Estimate Exception is not the current Payment Estimate Exception is not the current Payment Estimate Payment Estimate Exception is not the current Payment Estimate Payment Estimate Exception is not the current Payment Estimate Payment Estimate Exception is not the current Payment Estimate Payment Estimate Exception is not the current Payment Estimate Payment Estimate Exception is not the current Payment Estimate Payment Estimate Exception is not the current Payment Estimate Payment Estimate Exception is not not except the payment Estimate Payment Estimate Exception is not not except the payment Estimate Payment Estimate Exception is not not except the payment Estimate Payment Estimate Exception is not not except the payment Estimate Exception is not not except the payment Estimate Payment						5		SYSTEM	(\$39,549.28)	
2025   System   S44,492.94   This adjustment offsets the original system-generated Material Payment Estimate Reception 3 on the current Payment Estimate Teaching to the original system-generated Material Payment Teaching Tea						5		SYSTEM	\$39,549.28	Estimate Item Adjustment (0008) due to user cunnid3 overridding Payment
2025						6		SYSTEM	(\$44,492.94)	
2025						6		SYSTEM	\$44,492.94	Estimate Item Adjustment (0008) due to user cunnid3 overridding Payment
2025   SySTEM   S\$1,008.43   SySTEM   S\$1,008.43   This adjustment offsets the original system-generated Material Payment Estimate Exception 10 on the current Payment Estimate Payment Estimate Exception 12 on the current Payment Estimate Payment Estimate Exception 13 on the current Payment Estimate Payment						7		SYSTEM	(\$51,908.43)	
2025						7		SYSTEM	\$51,908.43	Estimate Item Adjustment (0008) due to user cunnid3 overridding Payment
2025   SYSTEM   Estimate   Exemption 14 on the current Payment Estimate   Exemption 14 on the current Payment   Estimate   Exemption 15 on the current Payment   Estimate   Exemption 16 on the current Payment   Estimate   Estimate   Exemption 16 on the current Payment   Estimate   Exemption 16 on the current Payment   Estimate   Exemption 16 on the current Payment   Estimate   Estimate   Estimate   Exemption 16 on the current Payment   Estimate   Estimate   Estimate   Exemption 16 on the current Payment   Estimate   Estimate   Exemption 16 on the current Payment   Estimate   Estimate   Exemption 16 on the current Payment   Estimate						8		SYSTEM	(\$51,908.43)	
2025   9						8		SYSTEM	\$51,908.43	Estimate Item Adjustment (0017) due to user washid1 overridding Payment
2025   Estimate Item Adjustment (0027) due to user cunnid3 overridding Payment Estimate Exception 13 on the current Payment Estimate.						9		SYSTEM	(\$51,908.43)	
2025   10						9		SYSTEM	\$51,908.43	Estimate Item Adjustment (0027) due to user cunnid3 overridding Payment
2025   Estimate Item Adjustment (0021) due to user washid1 overridding Payment Estimate Exception 14 on the current Payment Estimate.						10		SYSTEM	(\$51,908.43)	
11						10		SYSTEM	\$51,908.43	Estimate Item Adjustment (0021) due to user washid1 overridding Payment
2025   Estimate Item Adjustment (0010) due to user cunnid3 overridding Payment Estimate Exception 10 on the current Payment Estimate.						11		SYSTEM	(\$51,908.43)	
12						11		SYSTEM	\$51,908.43	Estimate Item Adjustment (0010) due to user cunnid3 overridding Payment
Estimate Item Adjustment (0011) due to user cunnid3 overridding Payment Estimate Exception 13 on the current Payment Estimate.    13						12		SYSTEM	(\$51,908.43)	
2025  13 Jun 3, 2025  \$51,908.43 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user cunnid3 overridding Payment Estimate Exception 14 on the current Payment Estimate.  **S0.00**  **Material - Total***  \$0.00**  **Material - Total**  \$0.00**  **O.00**  **Dost Total**  \$0.00**  **Material - Total**  \$0.00**  **This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user cunnid3 overridding Payment Estimate Exception 10 on the current Payment Estimate.  5 Feb 3, SYSTEM*  (\$3,951.60)*  **SYSTEM*  \$2,220.00**  This adjustment offsets the original system-generated Material Payment Estimate Exception 10 on the current Payment Estimate.						12		SYSTEM	\$51,908.43	Estimate Item Adjustment (0011) due to user cunnid3 overridding Payment
Comparison of the content of the c						13		SYSTEM	(\$51,908.43)	
Material - Total   \$0.00						13		SYSTEM	\$51,908.43	Estimate Item Adjustment (0008) due to user cunnid3 overridding Payment
Solution					- Total				\$0.00	
0610 INTEGRAL CURB (6 IN. HEIGHT AND UNDER)  4 Jan 16, 2025  4 Jan 16, SYSTEM (\$2,220.00)  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user cunnid3 overridding Payment Estimate Exception 10 on the current Payment Estimate.				Material - To	tal				\$0.00	
(6 IN. HEIGHT AND UNDER)  4 Jan 16, 2025  5 Feb 3, SYSTEM \$2,220.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 10 on the current Payment Estimate.		0590 -	Total						\$0.00	
4 Jan 16, 2025 SYSTEM \$2,220.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user cunnid3 overridding Payment Estimate Exception 10 on the current Payment Estimate.  5 Feb 3, SYSTEM (\$3,951.60)		0610	(6 IN. HEIGHT	Material		4		SYSTEM	(\$2,220.00)	
			AND UNDER)			4		SYSTEM	\$2,220.00	Estimate Item Adjustment (0008) due to user cunnid3 overridding Payment
LULU						5	Feb 3, 2025	SYSTEM	(\$3,951.60)	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3279	0610	INTEGRAL CURB (6 IN. HEIGHT AND UNDER)	Material		5	Feb 3, 2025	SYSTEM	\$3,951.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user cunnid3 overridding Payment Estimate Exception 9 on the current Payment Estimate.
					6	Feb 18, 2025	SYSTEM	(\$3,951.60)	
					6	Feb 18, 2025	SYSTEM	\$3,951.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user cunnid3 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					7	Mar 1, 2025	SYSTEM	(\$5,061.60)	
					7	Mar 1, 2025	SYSTEM	\$5,061.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user cunnid3 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					8	Mar 17, 2025	SYSTEM	(\$5,061.60)	
					8	Mar 17, 2025	SYSTEM	\$5,061.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user washid1 overridding Payment Estimate Exception 15 on the current Payment Estimate.
					9	Apr 2, 2025	SYSTEM	(\$5,061.60)	
					9	Apr 3, 2025	SYSTEM	\$5,061.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0028) due to user cunnid3 overridding Payment Estimate Exception 14 on the current Payment Estimate.
					10	Apr 17, 2025	SYSTEM	(\$5,061.60)	
					10	Apr 17, 2025	SYSTEM	\$5,061.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0022) due to user washid1 overridding Payment Estimate Exception 15 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0610 -						21/2==1/	\$0.00	
	5005	PULL BOX, PREFORMED CLASS 2	Material		10	Apr 17, 2025	SYSTEM	(\$6,076.46)	
					10	Apr 17, 2025	SYSTEM	\$6,076.46	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0028) due to user washid1 overridding Payment Estimate Exception 21 on the current Payment Estimate.
					11	May 2, 2025	SYSTEM	(\$6,076.46)	
					11	May 2, 2025	SYSTEM	\$6,076.46	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user cunnid3 overridding Payment
									Estimate Exception 16 on the current Payment Estimate.
					12	May 16, 2025	SYSTEM	(\$6,076.46)	
					12		SYSTEM	(\$6,076.46) \$6,076.46	
						2025 May 16,		,	Estimate Exception 16 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user cunnid3 overridding Payment
					12	2025 May 16, 2025 Jun 3,	SYSTEM	\$6,076.46	Estimate Exception 16 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user cunnid3 overridding Payment
				- Total	12	2025 May 16, 2025 Jun 3, 2025 Jun 3,	SYSTEM SYSTEM	\$6,076.46 (\$6,076.46)	Estimate Exception 16 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user cunnid3 overridding Payment Estimate Exception 20 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0022) due to user cunnid3 overridding Payment
			Material - To		12	2025 May 16, 2025 Jun 3, 2025 Jun 3,	SYSTEM SYSTEM	\$6,076.46 (\$6,076.46) \$6,076.46	Estimate Exception 16 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user cunnid3 overridding Payment Estimate Exception 20 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0022) due to user cunnid3 overridding Payment
	5005 -	. Total	Material - To		12	2025 May 16, 2025 Jun 3, 2025 Jun 3,	SYSTEM SYSTEM	\$6,076.46 (\$6,076.46) \$6,076.46 \$0.00 \$0.00	Estimate Exception 16 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user cunnid3 overridding Payment Estimate Exception 20 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0022) due to user cunnid3 overridding Payment
J6S3279 -	- Total				13 13	2025 May 16, 2025 Jun 3, 2025 Jun 3, 2025	SYSTEM SYSTEM SYSTEM	\$6,076.46 (\$6,076.46) \$6,076.46	Estimate Exception 16 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user cunnid3 overridding Payment Estimate Exception 20 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0022) due to user cunnid3 overridding Payment
J6S3279 - J6S3416		TYPE 5 AGGREGATE	Material - To		12	2025 May 16, 2025 Jun 3, 2025 Jun 3,	SYSTEM SYSTEM	\$6,076.46 (\$6,076.46) \$6,076.46 \$0.00 \$0.00	Estimate Exception 16 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user cunnid3 overridding Payment Estimate Exception 20 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0022) due to user cunnid3 overridding Payment
	- Total	TYPE 5			13 13	2025 May 16, 2025 Jun 3, 2025 Jun 3, 2025	SYSTEM SYSTEM SYSTEM	\$6,076.46 (\$6,076.46) \$6,076.46 \$0.00 \$0.00 \$1,048.71	Estimate Exception 16 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user cunnid3 overridding Payment Estimate Exception 20 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0022) due to user cunnid3 overridding Payment
	- Total	TYPE 5 AGGREGATE			12 13 13	2025 May 16, 2025 Jun 3, 2025 Jun 3, 2025 Jun 3, 2025 Mar 17, 2025	SYSTEM SYSTEM SYSTEM SYSTEM	\$6,076.46 (\$6,076.46) \$6,076.46 \$0.00 \$0.00 \$1,048.71 (\$2,121.05)	Estimate Exception 16 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user cunnid3 overridding Payment Estimate Exception 20 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0022) due to user cunnid3 overridding Payment Estimate Exception 22 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0020) due to user washid1 overridding Payment
	- Total	TYPE 5 AGGREGATE			12 13 13 8 8	2025 May 16, 2025 Jun 3, 2025 Jun 3, 2025 Mar 17, 2025 Mar 17, 2025	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$6,076.46  (\$6,076.46)  \$6,076.46  \$0.00  \$0.00  \$1.048.71  (\$2,121.05)	Estimate Exception 16 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user cunnid3 overridding Payment Estimate Exception 20 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0022) due to user cunnid3 overridding Payment Estimate Exception 22 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0020) due to user washid1 overridding Payment



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3416	0700	TYPE 5	Material			2025			
		AGGREGATE FOR BASE			10	Apr 17, 2025	SYSTEM	\$6,519.39	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user washid1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					11	May 2, 2025	SYSTEM	(\$8,836.18)	
					11	May 2, 2025	SYSTEM	\$8,836.18	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user cunnid3 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					12	May 16, 2025	SYSTEM	(\$10,347.94)	
					12	May 16, 2025	SYSTEM	\$10,347.94	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user cunnid3 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					13	Jun 3, 2025	SYSTEM	(\$11,314.73)	
					13	Jun 3, 2025	SYSTEM	\$11,314.73	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user cunnid3 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
			Price FUEL		8	Mar 17, 2025	SYSTEM	(\$9.11)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					9	Apr 2, 2025	SYSTEM	(\$16.94)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					10	Apr 17, 2025	SYSTEM	(\$1.73)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					11	May 2, 2025	SYSTEM	(\$8.89)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					12	May 16, 2025	SYSTEM	(\$9.42)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					13	Jun 3, 2025	SYSTEM	(\$6.03)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$52.12)	
			Price FUEL -	Total				(\$52.12)	
	0700 -	Total						(\$52.12)	
	0790	TRUNCATED DOMES	Material		12	May 16, 2025	SYSTEM	(\$763.40)	
					12	May 16, 2025	SYSTEM	\$763.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user cunnid3 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					13	Jun 3, 2025	SYSTEM	(\$1,203.40)	
					13	Jun 3, 2025	SYSTEM	\$1,203.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user cunnid3 overridding Payment Estimate Exception 8 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0790 -	Total						\$0.00	
	0800	6 IN. CONCRETE MEDIAN STRIP	Material		11	May 2, 2025	SYSTEM	(\$6,408.17)	
					11	May 2, 2025	SYSTEM	\$6,408.17	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user cunnid3 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					12	May 16, 2025	SYSTEM	(\$6,408.17)	
					12	May 16, 2025	SYSTEM	\$6,408.17	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user cunnid3 overridding Payment Estimate Exception 9 on the current Payment Estimate.
					13	Jun 3, 2025	SYSTEM	(\$6,408.17)	
					13	Jun 3, 2025	SYSTEM	\$6,408.17	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user cunnid3 overridding Payment Estimate Exception 10 on the current Payment Estimate.



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3416	0800	6 IN. CONCRETE MEDIAN STRIP	Material	- Total				\$0.00	
			Material - To	tal				\$0.00	
	0800 -							\$0.00	
	0810	PAVED APPROACH, 7 IN.	Material		8	Mar 17, 2025	SYSTEM	(\$15,680.21)	
					8	Mar 17, 2025	SYSTEM	\$15,680.21	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0022) due to user washid1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					9	Apr 2, 2025	SYSTEM	(\$32,552.58)	
					9	Apr 3, 2025	SYSTEM	\$32,552.58	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0032) due to user cunnid3 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					10	Apr 17, 2025	SYSTEM	(\$32,552.58)	
					10	Apr 17, 2025	SYSTEM	\$32,552.58	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0025) due to user washid1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					11	May 2, 2025	SYSTEM	(\$34,860.09)	
					11	May 2, 2025	SYSTEM	\$34,860.09	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user cunnid3 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					12	May 16, 2025	SYSTEM	(\$34,860.09)	
					12	May 16, 2025	SYSTEM	\$34,860.09	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user cunnid3 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					13	Jun 3, 2025	SYSTEM	(\$34,860.09)	
					13	Jun 3, 2025	SYSTEM	\$34,860.09	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user cunnid3 overridding Payment Estimate Exception 11 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
			Price FUEL		8	Mar 17, 2025	SYSTEM	(\$28.04)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					9	Apr 2, 2025	SYSTEM	(\$30.18)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					11	May 2, 2025	SYSTEM	(\$3.69)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$61.91)	
			Price FUEL -	Total				(\$61.91)	
	0810 -							(\$61.91)	
	0820	CONCRETE SIDEWALK, 4 IN.	Material		8	Mar 17, 2025	SYSTEM	(\$935.45)	
					8	Mar 17, 2025	SYSTEM	\$935.45	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0023) due to user washid1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
					9	Apr 2, 2025	SYSTEM	(\$935.45)	
					9	Apr 3, 2025	SYSTEM	\$935.45	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0033) due to user cunnid3 overridding Payment Estimate Exception 11 on the current Payment Estimate.
					10	Apr 17, 2025	SYSTEM	(\$3,508.74)	
					10	Apr 17, 2025	SYSTEM	\$3,508.74	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user washid1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
					11	May 2, 2025	SYSTEM	(\$16,343.79)	
					11	May 2, 2025	SYSTEM	\$16,343.79	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user cunnid3 overridding Payment Estimate Exception 9 on the current Payment Estimate.
					12	May 16,	SYSTEM	(\$24,417.96)	



Project						-			
	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3416	0820	CONCRETE	Material			2025			
		SIDEWALK, 4 IN.			12	May 16, 2025	SYSTEM	\$24,417.96	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0020) due to user cunnid3 overridding Payment Estimate Exception 11 on the current Payment Estimate.
					13	Jun 3, 2025	SYSTEM	(\$29,915.71)	
					13	Jun 3, 2025	SYSTEM	\$29,915.71	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user cunnid3 overridding Payment Estimate Exception 12 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0820 -	- Total						\$0.00	
	0830		Material		12	May 16, 2025	SYSTEM	(\$7,787.67)	
					12	May 16, 2025	SYSTEM	\$7,787.67	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0021) due to user cunnid3 overridding Payment Estimate Exception 12 on the current Payment Estimate.
					13	Jun 3, 2025	SYSTEM	(\$12,979.45)	Estimate Exception 12 on the confess raymon Estimate.
					13	Jun 3, 2025	SYSTEM	\$12,979.45	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user cunnid3 overridding Payment Estimate Exception 13 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0830 -	- Total						\$0.00	
	0960	CHANGEABLE MESSAGE SIGN	Material		13	Jun 3, 2025	SYSTEM	(\$14,980.00)	
		WITHOUT COMMUNICATION INTERFACE, CONTRACTOR			13	Jun 3, 2025	SYSTEM	\$14,980.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user cunnid3 overridding Payment Estimate Exception 16 on the current Payment Estimate.
		FURNISHED / RETAINED		- Total				\$0.00	
		TKE IT WINED	Material - To	tal				\$0.00	
	0960								
		- I otal						\$0.00	
	0970		Material		12	May 16, 2025	SYSTEM		
	0970		Material		12		SYSTEM SYSTEM	\$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0022) due to user cunnid3 overridding Payment Estimate Exception 14 on the current Payment Estimate.
	0970		Material			2025 May 16,		<b>\$0.00</b> (\$802.50)	Estimate Item Adjustment (0022) due to user cunnid3 overridding Payment
	0970		Material		12	2025 May 16, 2025 Jun 3,	SYSTEM	\$0.00 (\$802.50) \$802.50	Estimate Item Adjustment (0022) due to user cunnid3 overridding Payment
	0970		Material	- Total	12	2025 May 16, 2025 Jun 3, 2025 Jun 3,	SYSTEM SYSTEM	\$0.00 (\$802.50) \$802.50 (\$4,012.50)	Estimate Item Adjustment (0022) due to user cunnid3 overridding Payment Estimate Exception 14 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user cunnid3 overridding Payment
	0970		Material  Material - To		12	2025 May 16, 2025 Jun 3, 2025 Jun 3,	SYSTEM SYSTEM	\$0.00 (\$802.50) \$802.50 (\$4,012.50) \$4,012.50	Estimate Item Adjustment (0022) due to user cunnid3 overridding Payment Estimate Exception 14 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user cunnid3 overridding Payment
					12	2025 May 16, 2025 Jun 3, 2025 Jun 3,	SYSTEM SYSTEM	\$0.00 (\$802.50) \$802.50 (\$4,012.50) \$4,012.50	Estimate Item Adjustment (0022) due to user cunnid3 overridding Payment Estimate Exception 14 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user cunnid3 overridding Payment
	0970 -	MISC.			12	2025 May 16, 2025 Jun 3, 2025 Jun 3,	SYSTEM SYSTEM	\$0.00 (\$802.50) \$802.50 (\$4,012.50) \$4,012.50 \$0.00	Estimate Item Adjustment (0022) due to user cunnid3 overridding Payment Estimate Exception 14 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user cunnid3 overridding Payment
	0970 -	MISC.	Material - To		13 13	2025 May 16, 2025 Jun 3, 2025 Jun 3, 2025	SYSTEM SYSTEM SYSTEM	\$0.00 (\$802.50) \$802.50 (\$4,012.50) \$4,012.50 \$0.00 \$0.00	Estimate Item Adjustment (0022) due to user cunnid3 overridding Payment Estimate Exception 14 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user cunnid3 overridding Payment
	0970 -	MISC.	Material - To		12 13 13 9	2025 May 16, 2025 Jun 3, 2025 Jun 3, 2025 Apr 2, 2025 Apr 3,	SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 (\$802.50) \$802.50 (\$4,012.50) \$4,012.50 \$0.00 \$0.00 (\$2,257.50)	Estimate Item Adjustment (0022) due to user cunnid3 overridding Payment Estimate Exception 14 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user cunnid3 overridding Payment Estimate Exception 17 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0034) due to user cunnid3 overridding Payment
	0970 -	MISC.	Material - To	tal - Total	12 13 13 9	2025 May 16, 2025 Jun 3, 2025 Jun 3, 2025 Apr 2, 2025 Apr 3,	SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 (\$802.50) \$802.50 (\$4,012.50) \$4,012.50 \$0.00 \$0.00 \$2,257.50)	Estimate Item Adjustment (0022) due to user cunnid3 overridding Payment Estimate Exception 14 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user cunnid3 overridding Payment Estimate Exception 17 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0034) due to user cunnid3 overridding Payment
	<b>0970</b> - 1200	MISC.	Material - To	tal - Total	12 13 13 9	2025 May 16, 2025 Jun 3, 2025 Jun 3, 2025 Apr 2, 2025 Apr 3,	SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 (\$802.50) \$802.50 (\$4,012.50) \$4,012.50 \$0.00 \$0.00 (\$2,257.50) \$2,257.50	Estimate Item Adjustment (0022) due to user cunnid3 overridding Payment Estimate Exception 14 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user cunnid3 overridding Payment Estimate Exception 17 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0034) due to user cunnid3 overridding Payment
	<b>0970</b> - 1200	Total SILT FENCE  Total PULL BOX, PREFORMED	Material - To  Material - To  Construction Stockpile	tal - Total	12 13 13 9	2025 May 16, 2025 Jun 3, 2025 Jun 3, 2025 Apr 2, 2025 Apr 3,	SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 (\$802.50) \$802.50 (\$4,012.50) \$4,012.50 \$0.00 \$0.00 \$2,257.50 \$2,257.50	Estimate Item Adjustment (0022) due to user cunnid3 overridding Payment Estimate Exception 14 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user cunnid3 overridding Payment Estimate Exception 17 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0034) due to user cunnid3 overridding Payment
	0970 - 1200	Total  Total  PULL BOX,	Material - To  Material - To  Construction	tal - Total	12 13 13 9 9	2025 May 16, 2025 Jun 3, 2025 Jun 3, 2025 Apr 2, 2025 Apr 3, 2025	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 (\$802.50) \$802.50 (\$4,012.50) \$4,012.50 \$0.00 \$0.00 (\$2,257.50) \$2,257.50 \$0.00 \$0.00 \$0.00	Estimate Item Adjustment (0022) due to user cunnid3 overridding Payment Estimate Exception 14 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user cunnid3 overridding Payment Estimate Exception 17 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0034) due to user cunnid3 overridding Payment Estimate Exception 15 on the current Payment Estimate.
	0970 - 1200	Total SILT FENCE  Total PULL BOX, PREFORMED	Material - To  Material - To  Construction Stockpile STMI	- Total	12 13 13 9 9	2025 May 16, 2025 Jun 3, 2025 Jun 3, 2025 Jun 3, 2025 Apr 2, 2025 Apr 3, 2025	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 (\$802.50) \$802.50 (\$4,012.50) \$4,012.50 \$0.00 \$0.00 (\$2,257.50) \$2,257.50 \$0.00 \$0.00 \$0.00 \$19,368.00	Estimate Item Adjustment (0022) due to user cunnid3 overridding Payment Estimate Exception 14 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user cunnid3 overridding Payment Estimate Exception 17 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0034) due to user cunnid3 overridding Payment Estimate Exception 15 on the current Payment Estimate.
	0970 - 1200 - 1200 - 1260	Total SILT FENCE  Total PULL BOX, PREFORMED	Material - To  Material - To  Construction Stockpile STMI	- Total	12 13 13 9 9	2025 May 16, 2025 Jun 3, 2025 Jun 3, 2025 Jun 3, 2025 Apr 2, 2025 Apr 3, 2025	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 (\$802.50) \$802.50 (\$4,012.50) \$4,012.50 \$0.00 \$0.00 (\$2,257.50) \$2,257.50 \$0.00 \$0.00 \$19,368.00	Estimate Item Adjustment (0022) due to user cunnid3 overridding Payment Estimate Exception 14 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user cunnid3 overridding Payment Estimate Exception 17 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0034) due to user cunnid3 overridding Payment Estimate Exception 15 on the current Payment Estimate.



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3416	1280	POLE FOUNDATION (30 FT. OR 9.0 M	Construction Stockpile STMI	- Total				\$12,760.00	
			Construction	Stockpile S1	MI - Total			\$12,760.00	
	1280 -	Total						\$12,760.00	
	1290	POWER SUPPLY ASSEMBLY, TYPE 2, 240/120	Construction Stockpile STMI		8	Mar 17, 2025	SYSTEM	\$34,592.04	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$34,592.04	
			Construction	Stockpile S1	MI - Total			\$34,592.04	
	1290 -				_			\$34,592.04	
	1300	MISC. HIGHWAY LIGHTING	Construction Stockpile STMI		8	Mar 17, 2025	SYSTEM	\$35,900.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			0 1 11	- Total				\$35,900.00	
	4000	T-4-1	Construction	Stockpile S1	MI - I otal			\$35,900.00	
	1300 -		0		0	Man 47	OVOTEM	\$35,900.00	Decreased Section to the second section and other least to the second section and section
	1320	SIGNAL HEAD, TYPE 4B	Construction Stockpile STMI	Total	8	Mar 17, 2025	SYSTEM	\$6,868.80	Payment Estimate Item Adjustment generated Stockpile Transaction
			Construction	- Total	MI Total			\$6,868.80	
	1220	Total	Construction	Stockpile S1	WII - TOTAI			\$6,868.80	
	1330		Construction Stockpile		8	Mar 17, 2025	SYSTEM	<b>\$6,868.80</b> \$4,827.24	Payment Estimate Item Adjustment generated Stockpile Transaction
	TYPE 1S, PEDESTRIAN	STMI	- Total		2023		\$4,827.24		
			Construction	Stockpile S1	MI - Total			\$4,827.24	
	1330 -	Total						\$4,827.24	
	1350	SIGNAL SIGN, MOUNTING HARDWARE	Construction Stockpile STMI		8	Mar 17, 2025	SYSTEM	\$1,517.92	Payment Estimate Item Adjustment generated Stockpile Transaction
			O T WIII	- Total				\$1,517.92	
			Construction	Stockpile S1	MI - Total			\$1,517.92	
	1350 -							\$1,517.92	
	1360	POST, SIGNAL 8 FT.	Construction Stockpile STMI		8	Mar 17, 2025	SYSTEM	\$8,034.80	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$8,034.80	
			Construction	Stockpile S1	MI - Total			\$8,034.80	
	<b>1360 -</b> 1420	MISC.	Construction		8	Mar 17,	SYSTEM	<b>\$8,034.80</b> \$15,266.08	Payment Estimate Item Adjustment generated Stockpile Transaction
			Stockpile STMI	- Total		2025		\$15,266.08	
			Construction	Stockpile S1	MI Total			\$15,266.08	
	1420 -	Total	Jonion dellon	-этоокрис-от	-im Total			\$15,266.08	
	1440	MISC.	Material		9	Apr 2, 2025	SYSTEM	(\$310.30)	
					9	Apr 3, 2025	SYSTEM	\$310.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0035) due to user cunnid3 overridding Payment Estimate Exception 27 on the current Payment Estimate.
					10	Apr 17, 2025	SYSTEM	(\$310.30)	Estimate Exception 27 on the eartern't ayriton Estimate.
					10	Apr 17,	SYSTEM	\$310.30	This adjustment offsets the original system-generated Material Payment
						2025		******	Estimate Item Adjustment (0027) due to user washid1 overridding Payment Estimate Exception 24 on the current Payment Estimate.
					11	May 2, 2025	SYSTEM	(\$310.30)	
					11	May 2, 2025	SYSTEM	\$310.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user cunnid3 overridding Payment Estimate Exception 19 on the current Payment Estimate.
					12	May 16, 2025	SYSTEM	(\$310.30)	
					12	May 16, 2025	SYSTEM	\$310.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0023) due to user cunnid3 overridding Payment Estimate Exception 21 on the current Payment Estimate.





Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3416	1440	MISC.	Material		13	Jun 3, 2025	SYSTEM	(\$310.30)	
					13	Jun 3, 2025	SYSTEM	\$310.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0020) due to user cunnid3 overridding Payment Estimate Exception 23 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	1440 -	Total						\$0.00	
	1570	15 IN. PIPE GROUP A	Material		13	Jun 3, 2025	SYSTEM	(\$460.10)	
					13	Jun 3, 2025	SYSTEM	\$460.10	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0021) due to user cunnid3 overridding Payment Estimate Exception 18 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	1570 -	Total						\$0.00	
J6S3416 -	Total							\$139,020.85	
Overall -	Γotal							\$190,069.56	



### **Contract Adjustments for Contract - 240517-F08**

Estimate Number	Project	Adjustment Type	Other Adjustment Type	Adjustment Amount	Adjustment Percentage by Project	Created Date	Created By	Comments
11	J6S3279	Incentive	SPAD	\$7,949.57	35.39647352	May 2, 2025	cunnid3	Job Number: J6S3279 Line Number 0030 (6S3279) Asphaltic Concrete Mixture PG 70-22 (SP125CLP MIX)  Pay factor SP125 (70-22) Lot 1 per MoDot Standard Spreadsheet Adjustment made as per MoDot Superpave spreadsheet by Michael R. Meyerhoff. Reference file stored at below address.  http://eprojects/Docs/6S3279/240517-F08, J6S3279, Rt. 367, Rt. 115, , St. Louis City - NFM-
	J6S3416	Incentive	SPAD	\$12,382.31	55.13379024	May 2, 2025	cunnid3	Fort Belle- SP125 23-14, Lot 1-Pay Factor-04-25-2025.pdf  Job Number: J6S3279 Line Number 0030 (6S3279) Asphaltic Concrete Mixture PG 70-22 (SP125CLP MIX)  Pay factor SP125 (70-22) Lot 1 per MoDot Standard Spreadsheet Adjustment made as per MoDot Superpave spreadsheet by Michael R. Meyerhoff. Reference file stored at below address.  http://eprojects/Docs/6S3279/240517-F08, J6S3279, Rt. 367, Rt. 115, , St. Louis City - NFM-Fort Belle- SP125 23-14, Lot 1-Pay Factor-04-25-2025.pdf
	J6S3416B	Incentive	SPAD	\$2,126.78	9.46973624	May 2, 2025	cunnid3	Job Number: J6S3279 Line Number 0030 (6S3279) Asphaltic Concrete Mixture PG 70-22 (SP125CLP MIX)  Pay factor SP125 (70-22) Lot 1 per MoDot Standard Spreadsheet Adjustment made as per MoDot Superpave spreadsheet by Michael R. Meyerhoff. Reference file stored at below address.  http://eprojects/Docs/6S3279/240517-F08, J6S3279, Rt. 367, Rt. 115, , St. Louis City - NFM-Fort Belle- SP125 23-14, Lot 1-Pay Factor-04-25-2025.pdf
11 - Total				\$22,458.66				
12	J6S3279	Incentive	SPAD	\$5,516.03	35.39647352	May 16, 2025	cunnid3	Job Number: J6S3279 Line Number 0030 (6S3279) Asphaltic Concrete Mixture PG 70-22 (SP125CLP MIX)  Pay factor SP125 (70-22) Lot 2 per MoDot Standard Spreadsheet Adjustment made as per MoDot Superpave spreadsheet by Michael R. Meyerhoff. Reference file stored at below address  http://eprojects/Docs/6S3279/240517-F08_J6S3279_NFM_Fort_Belle_SP125%2023-14_Lot %202_Pay%20Factor_05122025.pdf
	J6S3416	Incentive	SPAD	\$8,591.81	55.13379024	May 16, 2025	cunnid3	Job Number: J6S3279 Line Number 0030 (6S3279) Asphaltic Concrete Mixture PG 70-22 (SP125CLP MIX)  Pay factor SP125 (70-22) Lot 2 per MoDot Standard Spreadsheet Adjustment made as per MoDot Superpave spreadsheet by Michael R. Meyerhoff. Reference file stored at below address  http://eprojects/Docs/6S3279/240517-F08_J6S3279_NFM_Fort_Belle_SP125%2023-14_Lot
								%202_Pay%20Factor_05122025.pdf
	J6S3416B	Incentive	SPAD	\$1,475.72	9.46973624	May 16, 2025	cunnid3	
12 - Total	J6S3416B	Incentive	SPAD	\$1,475.72 \$15,583.56	9.46973624		cunnid3	%202_Pay%20Factor_05122025.pdf  Job Number: J6S3279 Line Number 0030 (6S3279) Asphaltic Concrete Mixture PG 70-22 (SP125CLP MIX)  Pay factor SP125 (70-22) Lot 2 per MoDot Standard Spreadsheet Adjustment made as per MoDot Superpave spreadsheet by Michael R. Meyerhoff. Reference file stored at below address  http://eprojects/Docs/6S3279/240517-F08_J6S3279_NFM_Fort_Belle_SP125%2023-14_Lot

Revision 5/29/2025 Page 30 of 30